ORIGINAL ARTICLE-BASIC SCIENCE

Wound Repair and Regeneration WILEY

Patient and wound factors associated with WOUND-Q scales measuring health-related quality of life: An international cross-sectional study

Nina Vestergaard Simonsen MD, PhD Student^{1,2} | Sören Möller MSc, PhD³ | Charlene Rae PhD⁴ | Anne F. Klassen DPhil⁴ | Lotte Poulsen MD, PhD¹ | Andrea Louise Pusic MD, MSc^{5,6} | Jens Ahm Sørensen MD, PhD^{1,2}

¹Research Unit for Plastic Surgery, University of Southern Denmark, Odense, Denmark

²Department of Plastic Surgery, Odense University Hospital, Odense, Denmark

³Open Patient Data Explorative Network, Odense University Hospital and Department of Clinical Research, University of Southern Denmark, Odense, Denmark

⁴Department of Pediatrics, McMaster University, Hamilton, Ontario, Canada

⁵Department of Surgery, Brigham and Women's Hospital, Boston, Massachusetts, USA

⁶Patient-Reported Outcomes, Value & Experience Center, Brigham and Women's Hospital, Boston, Massachusetts, USA

Correspondence

Nina Vestergaard Simonsen, Research Unit of Plastic Surgery, Odense University Hospital, J.B. Winsløws Vej 4, 5000 Odense C, Denmark. Email: nina.vestergaard.simonsen2@rsyd.dk and nina6533@hotmail.com

Funding information

Department of Pediatrics, McMaster University; Region Syddanmark, Grant/Award Number: 21/58368; Odense Universitetshospital, Grant/Award Number: A4774

Abstract

The WOUND-Q is a patient-reported outcome measure for individuals with any type of chronic wound. This study aimed to identify patient and wound factors associated with the four WOUND-Q health-related quality of life (HRQL) scales: Life impact, Psychological, Sleep, and Social. Adults with a chronic wound were recruited internationally through clinical settings between August 2018 and May 2020, and through an online platform (i.e. Prolific) in September 2022. Multivariable linear regression analyses were conducted to identify factors significantly associated with the WOUND-Q scales. The assessments obtained were 1273, 1275, 706, and 1256 for the Life Impact, Psychological, Sleep, and Social scales, respectively. The mean age of participants was 55 (SD = 18) years; most (66%) had a single wound, and most (56%) wounds had lasted more than 6 months. The most common causes were trauma, surgery, and diabetic foot ulcer. Wound characteristics associated with worse scores on at least one of the scales were drainage, vacuum treatment, aetiologies (i.e. diabetic foot ulcer, trauma, other, multiple), duration (i.e. 10-11 months), having four or more wounds, smell, and sleep interference, while wound location different from the face or neck was associated with better scores (p < 0.05). Patient factors associated with worse scores included having diabetes or a comorbidity, whereas increasing age or male gender were associated with better scores (p < 0.05). Sleep disturbances had

Abbreviations: COSMIN, COnsensus-based Standards for the selection of health Measurement INstruments; DM, diabetes; DFU, diabetic foot ulcer; HRQL, health-related quality of life; MID, minimal important difference; NWPT, negative wound pressure therapy; PROM, patient-reported outcome measure; PVD, peripheral vascular disease; SDC, smallest detectable change; VIF, variance inflation factor; VLUs, venous leg ulcers.

This is an open access article under the terms of the Creative Commons Attribution-NonCommercial License, which permits use, distribution and reproduction in any medium, provided the original work is properly cited and is not used for commercial purposes. © 2025 The Author(s). Wound Repair and Regeneration published by Wiley Periodicals LLC on behalf of The Wound Healing Society. 2 of 26 WILFY_Wound Repair and Regeneration

the largest negative influence on HRQL scores. This study identified factors affecting HRQL in individuals with chronic wounds. Understanding these associations can inform better management and treatment strategies to improve HRQL for these patients.

KEYWORDS

chronic wounds, patient-reported outcomes, predictors, PROM, quality of life, regression

1 | INTRODUCTION

Chronic wounds are a common condition with a prevalence of 2.21 per 1000 population, affecting millions of people worldwide.¹ Wounds can be defined as chronic when they fail to heal within 3 months² and are often a symptom of underlying conditions. Treatment is complex and requires elimination or improvement of the aetiology of the wound and underlying systemic or metabolic conditions such as infection, peripheral vascular disease, or diabetes.^{3,4} Despite successful healing, up to 40% of patients with a diabetic foot ulcer (DFU)⁵ and 50%–55% of patients with venous leg ulcers (VLUs)⁶ will experience a recurrence within 1 year. This recurrence rate indicates that chronic wounds often become a lifelong condition with cyclic ulceration, healing, and recurrence.⁵⁻⁷ Wounds can negatively affect patients' health-related quality of life (HROL) due to symptoms that wounds cause, such as pain, and smell, but also social isolation, physical limitations, and financial and psychological distress.⁷⁻¹¹ To gain a better understanding of the impact of chronic wounds on patients' HRQL, a condition-specific patient-reported outcome measure (PROM) should be used.¹¹

The WOUND-Q is a PROM developed for all types of chronic wounds.¹²⁻¹⁵ Out of 33 wound-specific PROMs, the WOUND-Q and SCI-QOL (Spinal Cord Injury-QOL)¹⁶ rated very good in PROM design according to the COnsensus-based Standards for the selection of health Measurement INstruments (COSMIN) guidelines, and the WOUND-Q was recommended for use in research and clinical care.¹⁷ The WOUND-Q measures concepts that matter to patients with a chronic wound through 13 independently functioning scales assessing four domains: wound characteristics, HRQL, experience of care, and wound treatment.¹³ The WOUND-Q evidenced good psychometric properties in two separate studies that involved international samples of people with chronic wounds,^{13,18} including the ability to detect change.¹⁹ The WOUND-Q scales present an opportunity to gain deeper insights into the patient experience, enabling the delivery of more personalised and effective care strategies. This study aimed to perform an exploratory analysis, using data from the two studies mentioned above.^{13,18} The objective was to identify patient factors and wound characteristics associated with scores on the four WOUND-Q scales that measure aspects of HRQL, i.e. Life impact, Psychological, Sleep, and Social. The Life impact scale, with eight items, measures how a wound has affected the patient's quality of life over the past week, including impacts on close relationships, emotional wellbeing, and independence. The Psychological scale, with 10 items, captures

the psychological effects of wounds, asking about feelings of hopelessness, anxiety, self-consciousness, and frustration. The Sleep scale, consisting of five items, assesses difficulties with sleep, including trouble falling or staying asleep. Finally, the Social scale, with five items, evaluates the social impact of wounds, including feelings of isolation and missing social activities.

2 | METHOD

Data for this study included data from two previously conducted international validation studies of the WOUND-Q.^{13,18} These surveys collected patient demographics, wound characteristics, and WOUND-Q data. Ethical approval for both studies was secured from appropriate authorities. For the original field-test study, ethical board approvals were obtained in each participating country as described elsewhere.¹³ For the study to further examine psychometric properties, ethics approval was obtained from the Hamilton Integrated Research Ethics Board at McMaster University (#14946).¹⁸ All participants gave informed consent,^{13,18} and the study adheres to the principles outlined in the 1975 Declaration of Helsinki.

2.1 | Participants and data collection

In both surveys, inclusion criteria required participants to be 18 years or older, have a chronic wound (at least 3 months) of any type, located anywhere on their body, and be able to complete the survey independently in the required language. The original field-test participants were recruited from clinical settings (hospital inpatient and outpatient clinics) in Canada, Denmark, the Netherlands, and the USA. Participants could complete the WOUND-Q independently in Danish, Dutch, or English. Depending on the recruitment site, they could complete the survey on tablets or paper booklets. Data collection was conducted from August 2018 to May 2020. In total, 1020 WOUND-Q assessments were gathered from 881 participants.¹³ For the further validation study, participants were recruited through the online crowdworking platform Prolific Academic (www.prolifc.com), where members receive payment for completing surveys.¹⁸ On Prolific, anyone aged 18 or older living in an OECD country with Internet access can create an account after attending a waitlist. Prolific enables researchers to use prescreen criteria, such as gender, language, or chronic condition, to identify a target population. In the study by

Simonsen et al.,¹⁸ prescreening criteria (English fluency and having a chronic condition/illness) identified a pool of potential participants in screening surveys. Those who fulfilled the inclusion criteria (i.e. having a chronic wound) in these surveys were invited to complete a REDCap survey through a link distributed in Prolific. Prolific participants needed to be able to read, write, and speak English to complete the English version of the WOUND-Q.¹⁸ Data were collected in September 2022, with 421 participants completing the WOUND-Q.¹⁸

Participants in both surveys reported demographic information (age, gender, weight, height, marital status, educational level, smoking status, country, health conditions), wound characteristics in the past week (smell, drainage, sleep interference), the four WOUND-Q scales (Life impact, Psychological, Sleep, Social), and the use of negative wound pressure therapy (NWPT) in the past 3 or 6 months.^{13,18} Participants were only asked to complete the Sleep scale if they reported wound-related sleep interference, consistent with the development paper.¹³ Data on wound characteristics (i.e. size, location, and type) for the original field-test study¹³ were provided by Danish participants, and by both clinicians and participants in Canada, the Netherlands, and the United States. In the further psychometric study.¹⁸ wound characteristics were self-reported. Each WOUND-O scale score was converted into a Rasch transformed score from 0 to 100 according to the WOUND-Q User's guide (https://gportfolio.org/ wound-q/). Higher values denote better outcomes.

As compensation, a small gift card was provided for the Canadian and American participants in the phase 2 sample,¹³ while Prolific participants in the further validation study were paid an average of 10.6 \pounds/h .¹⁸ Participants without a chronic wound, having multiple assessments, or missing scores in all four HRQL scales were excluded.

3 | ANALYSIS

The two datasets^{13,18} were merged in SPSS[®] version 29 (IBM Corporation, Armonk, NY, for Windows®). For participants with multiple assessments, only one assessment was retained to meet the assumption of independence required for linear regression. Descriptive statistics were performed in SPSS version 29. Normality was visually evaluated by guantile-guantile plots. Continuous data were reported with mean and standard deviation (SD), or with median and range if data were not normally distributed. Categorical data were reported with frequency and proportions (%). A univariable and multivariable linear regression, performed in Stata version 18 (StataCorp, College Station, TX, USA), was used to identify variables associated with WOUND-Q scale scores as outcome variables, i.e. Life impact, Psychological, Sleep, and Social. The univariable regression included variables not collected from all participants and is listed in Appendix A. Variables that were available in both samples and collected in each of the participating countries (i.e. Canada, Denmark, Netherlands, United States) in the original field-test study were included in the multivariable regression. As a rule of thumb, at least 10 observations were required per predictor variable, including indicator variables,²⁰ making our sample size sufficient for regression analysis (Figure 1). If there

were ≤ 10 observations in a predictor or indicator variable, it was excluded from the regression analysis. Missing data in the regression analysis were automatically handled in Stata by listwise deletion (i.e. excluding any observations with missing data on any of the variables). Statistical significances were assigned at p values <0.05. Variable selection for the regression analysis was done a priori informed by the literature and clinically, and by available variables.^{9,21-26} In the multivariable regression analysis, coefficients (β) for the scale scores of the four WOUND-Q scales were adjusted for the continuous, binary, and categorical predictors listed in Table 1. Besides β , we computed standardised coefficients (β^*) to assess which variables had the highest influence on the scale outcomes. The coefficient of determination (R²) was provided for each model, representing the proportion of variance in the scale outcomes explained by the predictor variables. Adjusted R^2 was also provided for the multivariable regressions. Homoscedasticity and normality of residuals were assessed visually using a plot of residuals versus predicted values and a quantile-quantile plot, respectively. Multicollinearity was defined as a variance inflation factor (VIF) > 10. Cook's D was computed to evaluate if any observations highly influenced the regression model. Sensitivity analyses were conducted for each scale by removing observations where Cook's D exceeded >4/n. This was done to determine if the exclusion of these influential data points altered the variables that significantly impacted the scale scores.

4 | RESULTS

We included 1282 patients (Figure 1). All participants who filled out the scales more than once were from the original field-test sample from Denmark. Table 2 provides sample characteristics of the 1282 participants. Participants were residents of 22 different countries with the largest subgroup being residents of the United States (25%). The mean age of the participants was 54.6 ± 18.4 years (range 18-95 years), and their mean BMI was 28.6 ± 7.8 kg/m². Of the Danish participants in the original field-test sample and for all participants in the further validation study, most were married or living common law (n = 355, 27.7%). For the entire sample, the most common wound types were traumatic (17.5%), surgical (16.1%), and diabetic foot ulcers (14.5%). Participants most frequently had a wound on their lower extremities (59.4%), and most had a single wound (65.8%). The four WOUND-Q scale mean scores ranged from 48.3 to 64.3 (SD = 20.3 to 31.2), with the lowest score on the Sleep scale (Table 3). In total, 18 different variables were included in a univariable regression. Of these, 16 variables were associated with at least one of the four scale scores (p < 0.05), while BMI and educational level were not. Variables significantly associated with all four scales included gender, having drainage, wound aetiology, wound numbers, smell, and sleep interference. The results of the univariable regression are available in Appendix A and will not be discussed further. The results of the multivariable regressions are available in Tables 4 and 5. The main and sensitivity analysis are presented side by side in Appendix B.

4.1 | Life impact

Of 1273 available assessments, 990 were included in the multivariable linear regression. The multivariable regression model statistically significantly predicted the Life impact score (p < 0.001) and explained 34% of the variance in the scale score ($R^2 = 0.34$, $*R^2 = 0.31$). No variables were associated with better Life impact scores. In contrast, worse Life impact scores were significantly associated with the occurrence of wound drainage, the use of NWPT in the past 3-6 months, having DM, having at least one comorbidity (excluding DM or PVD), having five or more wounds compared to one, having any degree of smell, or any degree of wound-related sleep disturbances compared to none. Evaluated by the β^* the variable with the highest impact on the Life impact score was wound related sleep disturbance, which indicator variables had β^* ranging from -0.2 to -0.33. In the sensitivity analysis 56 observations were excluded due to large Cook's D. The indicator variable having five or more wounds compared to one, changed from being significant to insignificant associated with the Life impact score Appendix B.

4.2 | Psychological function

A total of 990 out of 1275 assessments were included in the multivariable regression. The multivariable regression model statistically significantly predicted the Psychological scale score and explained 36% of the variance in the score (p < 0.001, $R^2 = 0.36$, $*R^2 = 0.33$). Better Psychological scores were significantly associated with older age, male gender, and having a wound located anywhere other than the face or neck. Worse Psychological scores were significantly associated with having drainage, having a comorbidity (excluding DM and PVD), having a diabetic foot ulcer, multiple, or other wound aetiologies compared to an arterial wound, having any degree of smell or wound-related sleep interference compared to none. Indicator variables with the greatest impact on the model were having a wound located on the leg ($\beta^* = 0.27$), foot, toe(s) ($\beta^* = 0.24$) or having any wound-related sleep inference: sometimes ($\beta^* = -0.22$), often ($\beta^* = -0.29$), or very often ($\beta^* = -0.30$). We excluded 52 observations in the sensitivity analysis. The indicator variable that changed from being significant to insignificant associated with



FIGURE 1 Flowchart of assessments and participants.

TABLE 1The 16 predictors included in the multivariable linearregression of the Life impact, Psychological, Sleep, and Social scale.

Туре	Variable
Continuos	Age, years
	BMI
	Wound size
	(width \times length, cm ²)
Binary	Gender Female/male
	Smoking
	Yes/no
	Drainage (drainage in the past week) Yes/no
	Vacuum (Use of suction device within the past 3– 6 months) Yes/no
	Diabetes (DM) Yes/no
	Peripheral vascular disease (PVD) Yes/no
	Comorbidity other than DM or PVD Yes/no
Categorical	Wound location
	Face or neck
	Upper extremity (hand, arm, shoulder)
	Truncus (chest, abdomen, back)
	Genitials, buttocks
	Leg
	Foot, toes
	Multiple wound locations
	Wound aetiology
	Arterial
	Venous
	Diabetic foot ulcer
	Hidradenitis
	Pilonidal cyst
	Pressure ulcer
	Surgery
	Radiation
	Trauma/injury
	Don't know
	Other type
	Multiple types
	Wound duration
	3-6 months
	/-y months
	1U-11 months
	1-2 years
	3-4 years

5-10 years

TABLE 1 (Continued)

Ty

Wound Repair and Rege

ре	Variable
	More than 10 years
	Wound numbers
	1 wound
	2 wounds
	3 wounds
	4 wounds
	5 or more wounds
	Smell within the past week
	No smell
	Faint
	Moderate
	Strong (other people notice)
	Sleep interference from wound in the past week.
	Never
	Sometimes (1–2 nights a week)
	Often (3-4 nights a week)
	Very often (5–7 nights a week)

the psychological score were having the wound aetiology 'other', Appendix B.

4.3 | Sleep

Of 706 assessments, 544 were included in the multivariable regression. The multivariable regression model explained 46% of the variance in the Sleep score ($R^2 = 0.46$, $*R^2 = 0.42$, p < 0.001). Better Sleep scores were significantly associated with male gender. Worse Sleep scores were significantly associated with having a comorbidity (excluding DM or PVD), having the wound aetiologies trauma, other, or multiple compared to arterial ulcers, having a wound that had lasted 10–11 months compared to 3–6 months, having four wounds compared to one, and having sleep interference three or more times a week compared to one to two nights a week. Having wound-related sleep interference often or very often compared to sometimes were the most important predictors with β^* at –0.34 and –0.57, respectively. In the sensitivity analysis, 27 observations were excluded. None of the variables or indicator variables changed from significant to insignificant in the sensitivity analysis.

4.4 | Social function

Of 1256 assessments, 983 were included in the multivariable regression. The multivariable regression model explained 31% of the variance in the Social score ($R^2 = 0.31$, $*R^2 = 0.28$, p < 0.001). A better Social score was significantly associated with wound location at the

TABLE 2 Participant and wound characteristics.

Participant and wound characteristic	N = 1282	%
Gender		
Female	553	43.1
Male	719	56.1
Other	7	0.5
Missing	3	0.2
BMI		
Underweight (≤18.5)	62	4.8
Normal (18.5–24.9)	367	28.6
Overweight (25-29.9)	368	28.7
Obese (≥30)	449	35
Missing	36	2.8
Smoke		
No	1032	80.5
Yes, currently (smoke/vape)	244	19
Missing	6	0.5
Country		
Canada	140	10.9
Denmark	286	22.3
Netherlands	220	17.2
South Africa	81	6.3
United Kingdom	144	11.2
United States	320	25
Other	88	6.9
Missing	3	0.2
Paid/volunteered job within 3 past mo	onths	
No	729	56.9
Yes	548	42.7
Missing	5	0.4
None or ≥1 comorbidity		
No comorbidities	292	22.8
At least one comorbidity	990	77.2
Diabetes		
No	851	66.4
Yes	431	33.6
Peripheral vascular disease		
No	1037	80.9
Yes	245	19.1
Marital status ^a		
Single, never married	232	18
Married/living common law	355	27.7
Separated/divorced	65	5.1
Widowed	29	2.3
Not asked ^a	577	45
Missing	24	1.9
		Continues

SIMONSEN ET AL.

TABLE 2 (Continued)

Participant and wound characteristic	N = 1282	%
Number of wounds		
1	844	65.8
2	240	18.7
3	89	6.9
4	39	3
5 or more	70	5.5
Wound size, cm^2 (width \times length) (n =	= 1211)	
	Median 4 cm ²	Range 0.0– 1282.1 cm ²
Wound duration		
3-6 months	528	41.2
7-9 months	128	10
10-11 months	84	6.6
1–2 years	246	19.2
3-4 years	127	9.9
5–10 years	89	6.9
>10 years	48	3.7
Prefer not to answer	1	0.1
Missing	31	2.4
Wound location		
Face or neck	19	1.5
Upper extremity (hand, arm, shoulder)	66	5.1
Truncus (chest, abdomen, back)	126	9.8
Genitals, buttock	90	7
Leg	364	28.4
Foot, Toe(s)	398	31
Other	13	1
Multiple	144	11.2
Missing	62	4.8
Wound aetiology		
Arterial ulcer	38	3
Venous ulcer	119	9.3
Diabetic foot ulcer	186	14.5
Hidradenitis suppurativa	44	3.4
Pilonidal cyst/disease	18	1.4
Pressure ulcer	144	11.2
Surgery	207	16.1
Radiation	16	1.2
Trauma/injury	224	17.5
Don't know	111	8.7
Other	83	6.5
Multiple	63	4.9
Cancer	7	0.5

(Continues)

TABLE 2 (Continued)

Participant and wound characteristic	N = 1282	%
Infection	9	0.7
Pyoderma gangrenosum	6	0.5
Missing	7	0.5
Smell from the wound in the past wee	ek	
No smell	854	66.6
Yes, a faint smell	310	24.2
Yes, a moderately strong smell	79	6.2
Yes, a very strong smell (other people notice)	37	2.9
Missing	2	0.2
Drainage from the wound in the past	week	
No	415	32.4
Yes	829	64.7
Not sure	36	2.8
Missing	2	0.2
Amount of drainage from the wound	in past week ^b	
No drainage	216	16.8
A little drainage	169	13.2
A moderate amount of drainage	28	2.2
A lot of drainage	7	0.5
Not asked ^b	862	67.2
Wound related sleep interference in t	he past week	
Never	541	42.2
Sometimes (1-2 nights a week)	416	32.4
Often (3–4 nights a week)	167	13
Very often (5–7 nights a week)	153	11.9
Missing	5	0.4
Treated with negative wound pressur 6 months	e therapy (NW	/PT) in the past 3–
No	1039	81
Yes	200	15.6
Not sure	39	3
Missing	4	0.3

^aParticipants from Canada, Netherlands, and the United States in the original field-test sample were not asked.

^bParticipants from the original field-test sample were not asked.

truncus compared to the face or neck. Worse Social scores were significantly associated with having drainage, treatment with NPWT in the past 3-6 months, having a comorbidity (different from PVD or DM), having five or more wounds compared to one, having any degree of smell or sleep interference. The indicator variables with the highest impact on the Social scale score were wound-related sleep interference with β^* ranging from -0.19 to -0.31. In the sensitivity analysis, 49 observations were excluded. No indicator variables changed from being significant to insignificant associated with the social score, Appendix B.

DISCUSSION 5 Т

This study combined two international surveys to examine the associations between patient demographics and wound characteristics, and their impact on HRQL scores across four WOUND-Q scales: Life impact, Psychological, Sleep, and Social, in people with any type and location of chronic wounds. The most significant finding was that sleep interference and the presence of at least one comorbidity other than DM or PVD, was associated with decreased scores on all four scales of HRQL. Sleep interference was furthermore the factor that imposed the most substantial negative impact on HRQL. In contrast, we did not identify any variables positively associated with all four scales. The results of the current study contribute to the literature by identifying factors associated with differences in life impact, psychological function, wound-related sleep disturbances, and social function. To improve HRQL in patients with chronic wounds, treatment should focus on improving modifiable factors.

Several studies have reported that chronic wounds decrease HRQL.^{7-11,24} However, little is known about how patient and woundrelated factors affect HRQL when measured using a rigorously developed PROM such as the WOUND-Q. Compared to other studies examining HROL in the chronic wound population, our sample was around 10 years younger, with a mean age of 55, compared to average ages ranging from 61 to 69 years.^{21,24,27,28} This younger wound population is expected when using online surveys²¹ and recruiting through Prolific.^{13,18} Despite having a younger population, our sample showed nearly equal gender distribution, consistent with a validation study of the Wound-QoL in 599 chronic wound patients with data deriving from the US Wound Registry.²⁸ Additionally, the second most common chronic wound aetiology was a surgical wound.²⁸

5.1 Patient characteristics

Increasing age was positively associated with psychological well-being ($\beta = 0.18$). However, the coefficient was small, and the 95% CI was close to zero. According to the smallest detectable change (SDC), mean differences in scores between groups must exceed 2.5 on the Psychological scale to be beyond measurement error.¹⁸ To obtain a difference above the SDC, the age difference should theoretically be 14 years. However, the SDC values reported by Simonsen et al. must be interpreted with caution. Large variations (SD) were found in WOUND-Q scores, and wide 95% ICC confidence intervals suggest a need for larger studies.¹⁸ Additionally, SDC values are sampledependent and may change with further studies.²⁹ In line with our findings, a survey of 113 community patients with chronic wounds found that younger patients (≤65 years) had significantly lower HRQL compared to older patients (>65 years) measured by the Cardiff Wound Impact Schedule (CWIS).²¹ In contrast, a Brazilian study found that age did not affect HRQL when measured by the Freiburg Life Quality Assessment-Wound (FLQA-W) and the Wound-QoL.²⁷ The protective association between advancing age and better psychological well-being supports the hypothesis that individuals adjust and

TABLE 3 Scale scores.

WOUND-Q scale	No.	Mean score ± SD	No. reporting minimum scale score	No. reporting maximum scale score
Life impact 'Does your wound(s) affect your quality of life'	1273	58.3 ± 23.5	35 (2.7%)	124 (9.7%)
Psychological 'Does your wound(s) affect how you feel?'	1275	64.3 ± 20.3	3 (0.2%)	139 (10.9%)
Sleep 'Does your wound(s) affect your sleep?'	706	48.3 ± 24.1	56 (7.9%)	19 (2.7%)
Social 'Does your wound(s) affect your social life?'	1256	60.2 ± 31.2	73 (5.8%)	306 (24.4%)

Abbreviation: No., numbers.

adapt to changing circumstances despite disease and advanced age.²² Gender was a significant predictor with the WOUND-Q Psychological and Sleep scales. Males had significantly better psychological wellbeing and sleep compared to females. Similarly, a German study using the Wound-QoL found that females had lower psychological wellbeing compared to males.²⁴ Females were more affected in their sleep than men in our sample and scored 5.6 points lower than men. Sleep disturbances and wound-related pain have been connected in a Swedish leg wound population which found that females with leg ulcers experience more pain than males.²⁶ It is well established that sex differences in pain exist.^{30,31} Higher occurrences of sleep disturbances among females may be explained by higher occurrences of pain or by psychological factors. Hellström et al.²⁶ were not able to confirm this hypothesis as they did not find an association between the female gender and a higher occurrence of sleep disturbances. We found that females scored lower on the Psychological scale, supporting that psychological well-being may be linked to sleep disturbances.³² Diabetes is associated with decreased HRQL compared to the general population and is further reduced by diabetes-related complications.^{33,34} When controlling for patient demographics, wound symptoms, and wound characteristics, we found that participants with diabetes scored 3.9 points lower on the Life impact scale than participants without diabetes. People with chronic wounds are known to have a high occurrence of comorbidities.^{9,35} It has been questioned whether the poor HRQL in chronic wound patients is more affected by comorbidities than by the wound itself.⁹ Despite WOUND-Q being a wound-specific PROM, we found that having at least one or more comorbidities, other than DM or PVD, was significantly associated with lower scores on the Life impact, Psychological, Sleep, and Social scale. This supports that comorbidities do indeed have an impact on a wound-specific PROM. More studies are needed to investigate the effect of comorbidities on WOUND-Q scores to enable adjustments for this in future research.

5.2 | Wound characteristics and symptoms

One of the primary outcomes when evaluating wound care is wound size. We did not find a significant association with more extensive

wounds leading to decreased scores in any of the four scales, consistent with Zhu et al.²³ who showed that, increased wound size, compared to a wound <2 cm², was not associated with decreased HRQL when measured by the EO-5D-5L. Conversely, wound size >50 cm² has been found to be negatively associated with the Social Life domain in CWIS compared to wounds ≤50 cm.²⁵ Supporting gualitative research.³⁶⁻³⁸ we found that wound drainage and smell negatively impacted HRQL. Drainage and smell were significantly associated with decreased scores in the Life impact, Psychological, and Social scale. Treatment with NWPT in the past 3-6 months was associated with reduced scores on the Life impact and Social scale. A meta-analysis of 15 studies has found that NWPT can accelerate chronic wound healing.³⁹ Still, only a few studies have examined the guantitative impact on patients' HRQL.⁴⁰ Current results imply a positive impact on HRQL compared to traditional dressing; however, evidence is still sparse and conflicting.⁴⁰ Participants with a chronic wound in the face or neck scored significantly lower on the Psychological scale, approximately 10 points lower compared to wounds in other locations. The visibility of the wound may have caused embarrassment and further psychological distress. Whether wound aetiology significantly impacts HRQL has been examined by Reinboldt-Jockenhöfer et al.²⁴ and Zhu et al.²³ In the study by Zhu et al., it was observed that people with arterial ulcers had worse scores on all HRQL domains and VAS scores measured by EQ-5D compared to other wound aetiologies. However, when this variable was included in a generalised linear model, it was not a significant predictor for worse HRQL.²³ Similarly, an arterial leg wound was not associated with decreased HRQL measured by the Wound-QoL²⁴ consistent with our findings. In contrast, we found that participants with the wound aetiology: 'diabetic foot ulcer', 'trauma/injury', 'other', and 'multiple' scored significantly lower on the Psychological or Sleep scale, compared to having an arterial ulcer. These results must be interpreted with caution due to large confidence intervals. Differences in HRQL have been linked to wound duration.^{23,25} Zhu et al. found worse EQ-VAS scores associated with a wound duration of 6 weeks to 3 months, compared to 4-6 weeks.²³ Soares et al. reported that wound lasting over 24 weeks negatively impact the CWIS domains of well-being, social life, physical symptoms, and daily living compared to those under 24 weeks.²⁵ In contrast to Soares

	Life impa	ict (n = 9	(06						Psychologi	cal (n = 99	6					S	ocial ($n = 2$	83)					
Variable	DOES YC WEEK, h	OUR WO	UND(S) AF	FECT YOU vound(s) int	IR QUALITY terfered with	OF LIFE? I ^h the follov	n the PAST ving:	.	DOES YOL mind, in the	JR WOUNI	D(S) AFFE	CT HOW Y	YOU FEEL? \ you felt:	Nith your	wound(s) i		OCES YOU iind, in the 'atement:	R WOUNE PAST WE	o(s) AFFEC EK, how m	r YOUR SOCI	IAL LIFE? W u disagree o	fith your v or agree w	/ound(s) ii ith each
				٩	95% CI							6	75% CI						٩	95% C			
	β	SE	t	Value	I	+	β*	VIF	ß	SE t		Value	+	4	**	ΛF β		SE t	Val	l e	+	β*	VIF
Age, years	0.04	0.04	0.95	0.34	-0.04	0.12	0.03	1.52	0.18	0.04	5.22	•••0	0.12	0.25	0.17	1.51	0.10	1 90.C	71 0.0	-0.0	1 0.2	1 0.0	6 1.5
BMI	0.11	0.08	1.30	0.19	-0.06	0.27	0.04	1.12	0.00	0.07	-0.02	0.99	-0.14	0.14	0.00	1.12	0.13	11.C	12 0.2	6 -0.10	0 0.3	5 0.0	3 1.1
Wound size (width × length, cm ²)	-0.06	0.04	-1.66	0.10	-0.13	0.01	-0.05	1.09	-0.05	0.03	-1.77	0.08	-0.11	0.01	-0.05	1.09	-0.09	0.05	1.81 0.0	-0.1	8 0.0	1 -0.0	5 1.0
Gender (REF = female)	2.31	1.31	1.77	0.08	-0.25	4.87	0.05	1.12	6.61	1.12	5.92	*•0	4.42	8.80	0.16	1.12	3.01	1.78	1.69 0.0	9-0.49	9 6.5	0.0	5 1.1
Smoking (REF = no)	-0.52	1.64	-0.32	0.75	-3.74	2.70	-0.01	1.12	-0.45	1.41	-0.32	0.75	-3.22	2.32	-0.01	1.12	-0.55	2.24 –(0.25 0.8	1 -4.9	4 3.8	3 -0.0	1 1.1
Drainage (REF = no drainage in the past week)	-5.65	1.47	-3.84	**00.00	-8.53	-2.76	-0.11	1.26	-3.43	1.26	-2.72	0.01*	-5.90	-0.96	-0.08	1.26	-5.50	2.01	2.73 0.0	- 9.4	- 1.5	- 0.0	8 1.2
Vacuum (use of suction device within the past 3-6 months) (REF = no)	-3.79	1.81	-2.10	0.04*	-7.33	-0.24	-0.06	1.14	1.96	1.55	1.27	0.21	-1.07	4.99	0.04	1.14	-7.64	2.48	3.08	0* -12.5	1 -2.7	0.0-	9 1.1
Diabetes (REF = no)	-3.90	1.62	-2.40	0.02*	-7.09	-0.72	-0.08	1.58	0.19	1.39	0.14	0.89	-2.53	2.91	0.00	1.57	-3.89	2.21 -	1.76 0.0.	- 8.2	3 0.4	5 -0.0	6 1.5
Peripheral vascular disease (REF = no)	-2.19	1.74	-1.26	0.21	-5.60	1.22	-0.04	1.27	0.41	1.49	0.28	0.78	-2.52	3.34	0.01	1.27	-2.74	2.39 -:	l.15 0.2	-7.4.	3 1.9	4 -0.0	4 1.2
Comorbidities (REF = none)	-3.61	1.28	-2.82	0.01*	-6.12	-1.09	-0.08	1.09	-3.82	1.10	-3.48	•00.0	-5.97	-1.67	-0.09	1.09	-5.66	1.75 - (3.23 0.0	0* -9.10	0 -2.2	2 -0.0	9 1.0
Wound location (, Upper extremity (hand, arm, shoulder)	REF = face 5.03	: or neck) 5.51	0.91	0.36	-5.77	15.84	0.05	4.56	11.95	4.71	2.53	0.01*	2.69	21.20	0.14	4.56	10.78	7.50	1.44 0.1.	- - - -	4 25.5	0.0	8 4.5
Truncus (chest,	9.03	5.28	1.71	0.09	-1.33	19.39	0.12	7.27	13.50	4.52	2.99	0.00*	4.63	22.37	0.21	7.27	15.40	7.19	2.14 0.0	3* 1.29	9 29.5	1 0.1	6 7.2

 TABLE 4
 Multivariable linear regression of the Life impact, Psychological, and Social scale.

(pointinud)	
5	T
Ŀ	ų
-	
	9
<	ζ
Ŀ	-

Variahle	Life imp	act ($n = 9$	60)						Psychol	ogical (n =	= 990)						Social (n =	983)						
	DOES Y WEEK, I	OUR WO	UND(S) AF	FFECT YOU wound(s) in	JR QUALIT	Y OF LIFE? th the follo	In the PAS wing:	đ	DOES Y mind, in	OUR WO the PAST	UND(S) AF	FECT HOV	N YOU FEEI we you felt:	L? With you	ır wound(s	Ë	DOES YO mind, in th statement.	JR WOU e PAST V	ND(S) AFF VEEK, how	FECT YOU	R SOCIAL LI ould you disa	IFE? With	your woui rree with (nd(s) in each
				2	95% CI							2	95% CI							2	95% CI			
	β	SE	ţ	Value	I	+	β*	VIF	β	SE	ţ	Value	I	+	β*	VIF	β	SE	ţ.	Value		+	β*	VIF
abdomen, back)																								
Genitials, buttocks	-7.04	5.60	-1.26	0.21	-18.02	3.95	-0.08	5.67	9.59	4.79	2.00	0.05*	0.18	18.99	0.12	5.67	1.43	7.63	0.19	0.85	-13.54	16.40	0.01	5.67
Leg	3.38	5.13	0.66	0.51	-6.68	13.44	0.07	14.57	11.94	4.39	2.72	0.01*	3.34	20.55	0.27	14.58	11.95	6.98	1.71	0.09	-1.75	25.65	0.18	14.44
Foot, toes	0.05	5.13	0.01	0.99	-10.01	10.11	0.00	15.65	10.16	4.39	2.31	0.02*	1.55	18.78	0.24	15.64	9.34	6.98	1.34	0.18	-4.37	23.04	0.14	15.53
Multiple wound locations	-2.90	5.37	-0.54	0.59	-13.44	7.64	-0.04	8.07	10.15	4.60	2.21	0.03*	1.12	19.17	0.16	8.07	2.91	7.32	0.40	0.69	-11.46	17.28	0.03	8.02
Wound aetiology	(REF = art	:erial)																						
Venous	0.95	4.37	0.22	0.83	-7.64	9.53	0.01	4.5	-3.63	3.79	-0.96	0.34	-11.07	3.81	-0.05	4.69	-4.78	5.97	-0.80	0.42	-16.50	6.95	-0.05	4.43
Diabetic foot ulcer	-5.20	4.43	-1.17	0.24	-13.89	3.50	-0.08	7.03	-8.31	3.84	-2.16	0.03*	-15.85	-0.76	-0.15	7.18	-11.08	6.05	-1.83	0.07	-22.95	0.80	-0.13	6.95
Hidradenitis	0.74	5.46	0.14	0.89	-9.97	11.45	0.01	2.5	-6.98	4.71	-1.48	0.14	-16.23	2.26	-0.06	2.54	-1.86	7.44	-0.25	0.80	-16.46	12.74	-0.01	2.5
Pilonidal cyst	8.40	7.05	1.19	0.23	-5.44	22.24	0.04	1.73	-2.39	6.07	-0.39	0.69	-14.30	9.52	-0.01	1.75	8.04	9.62	0.84	0.40	-10.83	26.91	0.03	1.73
Pressure ulcer	-5.65	4.54	-1.24	0.21	-14.56	3.27	-0.08	5.34	-7.63	3.93	-1.94	0.05	-15.34	0.09	-0.12	5.50	-10.57	6.21	-1.70	0.09	-22.75	1.61	-0.11	5.32
Surgery	-6.43	4.33	-1.48	0.14	-14.92	2.07	-0.11	7.35	-5.01	3.75	-1.34	0.18	-12.38	2.36	-0.10	7.54	-11.47	5.90	-1.94	0.05	-23.05	0.11	-0.14	7.35
Radiation	-8.16	7.27	-1.12	0.26	-22.42	6.11	-0.04	1.56	-8.58	6.06	-1.41	0.16	-20.48	3.32	-0.05	1.61	-3.86	9.61	-0.40	0.69	-22.72	14.99	-0.01	1.6
Trauma/ injury	-3.29	4.30	-0.77	0.44	-11.73	5.14	-0.06	7.44	-5.50	3.74	-1.47	0.14	-12.84	1.84	-0.11	7.64	-6.75	5.87	-1.15	0.25	-18.28	4.77	-0.09	7.41
Don't know	-3.31	4.57	-0.72	0.47	-12.27	5.66	-0.04	4.06	-5.88	3.96	-1.48	0.14	-13.65	1.90	-0.08	4.17	-1.82	6.23	-0.29	0.77	-14.04	10.40	-0.02	4.07
Other type	-2.19	4.73	-0.46	0.64	-11.48	7.10	-0.02	3.48	-8.56	4.11	-2.08	0.04*	-16.63	-0.49	-0.10	3.52	-5.53	6.45	-0.86	0.39	-18.19	7.14	-0.04	3.48
Multiple types	-5.53	4.86	-1.14	0.26	-15.07	4.00	-0.05	3.09	-12.82	4.21	-3.04	0.00*	-21.08	-4.55	-0.14	3.17	-9.70	6.62	-1.46	0.14	-22.69	3.30	-0.07	3.1
Wound duration	(REF = 3-6	5 months)																						
7-9 months	-0.68	2.19	-0.31	0.76	-4.98	3.62	-0.01	1.17	-2.35	1.88	-1.25	0.21	-6.03	1.33	-0.04	1.17	-5.45	3.00	-1.82	0.07	-11.33	0.44	-0.05	1.17
10- 11 months	-1.51	2.72	-0.55	0.58	-6.85	3.84	-0.02	1.13	-0.36	2.31	-0.16	0.88	-4.90	4.18	0.00	1.13	-3.98	3.73	-1.07	0.29	-11.30	3.35	-0.03	1.13
1-2 years	-0.58	1.71	-0.34	0.74	-3.93	2.78	-0.01	1.28	-2.07	1.47	-1.41	0.16	-4.95	0.80	-0.04	1.29	-0.73	2.34	-0.31	0.75	-5.32	3.85	-0.01	1.28

_

Variahla	Life impa	ict ($n = 9$	(O¢						Psycholog	cal ($n = 9$	(06						Social (n =	983)						
	DOES YC WEEK, h	OUR WO	JND(S) AFI has your w	FECT YOU! ound(s) int	R QUALITY	OF LIFE? In	n the PAST /ing:		DOES YOI mind, in th	JR WOUN e PAST W	VD(S) AFFE /EEK, how	ECT HOW often have	YOU FEEL? e you felt:	With you	r wound(s)	.E	DOES YOU mind, in th statement:	JR WOUN e PAST W	JD(S) AFF /EEK, how	ECT YOUI	R SOCIAL L buld you dis	IFE? With y agree or ag	∕our wour ree with ∈	id(s) in ach
				٩	95% CI							٩	95% CI							2	95% CI			
	β	SE	t	Value	I	+	β*	VIF	ß	SE	±.	Value		+	β*	VIF	θ	SE		Value	I	+	β*	VIF
3-4 years	-4.01	2.21	-1.81	0.07	-8.35	0.33	-0.05	1.22	-0.63	1.90	-0.33	0.74	-4.35	3.09	-0.01	1.23	-4.15	3.03	-1.37	0.17	-10.09	1.79	-0.04	1.22
5-10 years	-0.41	2.52	-0.16	0.87	-5.35	4.53	0.00	1.13	-0.57	2.15	-0.26	0.79	-4.80	3.66	-0.01	1.13	2.68	3.43	0.78	0.44	-4.05	9.41	0.02	1.13
More than 10 years	-1.14	3.47	-0.33	0.74	-7.95	5.68	-0.01	1.13	0.27	2.97	0.09	0.93	-5.57	6.10	0.00	1.13	-3.91	4.74	-0.83	0.41	-13.21	5.38	-0.02	1.14
Wound numbers	(REF = one)	(punow																						
Two wounds	-2.47	1.74	-1.42	0.16	-5.89	0.95	-0.04	1.27	-2.81	1.49	-1.88	0.06	-5.74	0.12	-0.06	1.27	-1.28	2.38	-0.54	0.59	-5.95	3.40	-0.02	1.28
Three wounds	-2.41	2.73	-0.88	0.38	-7.77	2.96	-0.02	1.16	0.48	2.32	0.21	0.84	-4.08	5.04	0.01	1.16	0.26	3.73	0.07	0.94	-7.05	7.58	0.00	1.16
Four wounds	-6.36	4.03	-1.58	0.12	-14.27	1.56	-0.04	1.16	-4.77	3.45	-1.38	0.17	-11.55	2.00	-0.04	1.16	-7.28	5.60	-1.30	0.19	-18.28	3.71	-0.04	1.16
5 or more wounds	-6.78	3.14	-2.16	0.03*	-12.93	-0.63	-0.06	1.26	-4.57	2.68	-1.70	0.09	-9.84	0.69	-0.05	1.26	-9.33	4.31	-2.17	0.03*	-17.78	-0.88	-0.07	1.26
Smell within the p	ast week (F	RF = no	smell)																					
Faint	-3.45	1.55	-2.22	0.03*	-6.50	-0.40	-0.07	1.23	-5.40	1.33	-4.06	••0	-8.00	-2.79	-0.12	1.23	-6.58	2.12	-3.10	0.00*	-10.75	-2.41	-0.09	1.24
Moderate	-7.71	2.64	-2.91	•00.0	-12.90	-2.52	-0.08	1.15	-7.20	2.25	-3.20	0.00*	-11.60	-2.79	-0.09	1.15	-9.36	3.58	-2.62	0.01*	-16.38	-2.34	-0.08	1.15
Strong	-11.32	3.78	-3.00	0.00*	-18.74	-3.91	-0.08	1.13	-11.50	3.24	-3.55	••0	-17.85	-5.15	-0.10	1.13	-11.36	5.15	-2.21	0.03*	-21.47	-1.26	-0.06	1.13
Sleep interference	e from wou	nd in the	past week (REF = nevt	er)																			
Sometimes (1-2 nights a week)	-9.95	1.49	-6.69	••00.0	-12.86	-7.03	-0.20	1.32	-9.43	1.27	-7.42	**0	-11.93	-6.94	-0.22	1.32	-12.49	2.03	-6.15	0.00	-16.48	-8.51	-0.19	1.32
Often (3-4 nights a week)	-22.26	2.05	-10.86	0.00	-26.28	-18.24	-0.33	1.29	-16.98	1.75	-9.68	*•0	-20.43	-13.54	-0.29	1.29	-26.82	2.81	-9.55	0.00	-32.33	-21.31	-0.30	1.3
Very often (5-7 nights a week)	-23.64	2.16	-10.93	00.0	-27.88	-19.39	-0.33	1.34	-18.76	1.86	-10.11	•	-22.41	-15.12	-0.30	1.33	-29.55	2.96	-9.97	0.00	-35.37	-23.74	-0.31	1.33

Abbreviations: β , coefficient; β^* , standardised coefficient; SE, standard error; VIF, variance inflation factor. *p < 0.05.*p < 0.001.

TABLE 4 (Continued)

TABLE 5 Multivariable linear regression of the Sleep scale.

	Sleep (n =	= 544)						
	DOES YC mind, in t	OUR WO	DUND(S) A T WEEK, h	FFECT Yo	OUR SLEEP have you:	? With you	r wound(s	s) in
					95% CI			
Variable	β	SE	t	p > t	Lower	Upper	β*	VIF
Age, years	0.09	0.05	1.69	0.09	-0.01	0.20	0.07	1.58
BMI	0.08	0.10	0.76	0.45	-0.12	0.27	0.03	1.13
Wound size (width $ imes$ length, cm ²)	-0.03	0.04	-0.89	0.37	-0.10	0.04	-0.03	1.12
Gender (REF = female)	5.91	1.67	3.54	0.00**	2.63	9.19	0.12	1.12
Smoking (REF = no)	-2.62	1.94	-1.35	0.18	-6.43	1.19	-0.05	1.12
Drainage ($REF = no drainage in the past week$)	-3.72	2.08	-1.79	0.08	-7.81	0.37	-0.07	1.38
Vacuum (use of suction device within the past $3-6$ months) (REF = no)	-2.70	2.37	-1.14	0.26	-7.36	1.96	-0.04	1.19
Diabetes (REF = no)	-3.46	2.18	-1.59	0.11	-7.74	0.82	-0.07	1.59
Peripheral vascular disease ($REF = no$)	-1.64	2.20	-0.74	0.46	-5.97	2.69	-0.03	1.32
Comorbidities (REF = none)	-3.98	1.67	-2.39	0.02*	-7.25	-0.70	-0.08	1.10
Wound location ($REF = upper extremity$) (hand, arm, shoulder) ^a								
Truncus (chest, abdomen, back)	-7.89	4.02	-1.97	0.05	-15.78	0.00	-0.10	2.59
Genitials, buttocks	-1.44	4.62	-0.31	0.76	-10.52	7.65	-0.02	2.24
Leg	-0.75	3.47	-0.22	0.83	-7.56	6.06	-0.01	4.09
Foot, toes	-3.62	3.55	-1.02	0.31	-10.60	3.35	-0.07	4.32
Multiple wound locations	1.46	3.90	0.37	0.71	-6.20	9.12	0.02	2.89
Wound aetiology ($REF = arterial$)								
Venous	-9.47	5.15	-1.84	0.07	-19.59	0.65	-0.12	4.27
Diabetic foot ulcer	-7.82	5.36	-1.46	0.15	-18.35	2.72	-0.11	5.40
Hidradenitis	-4.37	6.37	-0.69	0.49	-16.89	8.15	-0.04	2.54
Pilonidal cyst	-13.21	8.32	-1.59	0.11	-29.56	3.14	-0.07	1.82
Pressure ulcer	-4.98	5.67	-0.88	0.38	-16.12	6.16	-0.06	3.86
Surgery	-4.67	5.22	-0.89	0.37	-14.92	5.58	-0.07	6.44
Radiation	Not inclu	ded, onl	y 10 observ	vations				
Trauma/injury	-11.03	5.13	-2.15	0.03*	-21.12	-0.95	-0.18	6.63
Don't know	-9.40	5.53	-1.70	0.09	-20.26	1.46	-0.10	3.44
Other type	-11.88	5.64	-2.10	0.04*	-22.97	-0.79	-0.13	3.42
Multiple types	-14.10	5.74	-2.46	0.01*	-25.38	-2.83	-0.14	3.20
Wound duration (REF = $3-6$ months)								
7–9 months	-1.49	2.79	-0.53	0.59	-6.96	3.98	-0.02	1.21
10-11 months	-7.82	3.79	-2.06	0.04*	-15.27	-0.38	-0.07	1.21
1–2 years	0.02	2.25	0.01	1.00	-4.41	4.45	0.00	1.36
3–4 years	-3.60	2.99	-1.21	0.23	-9.47	2.26	-0.05	1.33
5–10 years	1.54	3.13	0.49	0.62	-4.60	7.68	0.02	1.17
More than 10 years	4.58	4.64	0.99	0.32	-4.53	13.69	0.03	1.17
Wound numbers (REF = one wound)								
Two wounds	-1.95	2.30	-0.85	0.40	-6.47	2.56	-0.03	1.39
Three wounds	-2.45	3.28	-0.75	0.46	-8.89	4.00	-0.03	1.21
Four wounds	-15.29	4.55	-3.36	0.00*	-24.22	-6.36	-0.12	1.18
5 or more wounds	-2.55	3.63	-0.70	0.48	-9.68	4.58	-0.03	1.38
Smell within the past week ($REF = no smell$)								
Faint	-0.41	1.91	-0.22	0.83	-4.16	3.33	-0.01	1.27

Wound Repair and Regeneration ——WILEY 13 of 26

TABLE 5 (Continued)

	Sleep (n =	= 544)						
	DOES YC mind, in t	OUR WO	DUND(S) A T WEEK, h	FFECT YC ow often	OUR SLEEP have you:	? With you	r wound(s	s) in
					95% CI			
Variable	β	SE	t	p > t	Lower	Upper	β^*	VIF
Moderate	-2.92	3.20	-0.91	0.36	-9.21	3.37	-0.03	1.26
Strong	-7.39	4.26	-1.73	0.08	-15.75	0.98	-0.06	1.24
Sleep interference from wound in the past week (REF $=$ sometimes) (1–	2 nights a v	veek) ^b						
Often (3–4 nights a week)	-19.15	2.05	-9.33	0.00**	-23.18	-15.11	-0.34	1.21
Very often (5-7 nights a week)	-34.29	2.23	-15.39	0.00**	-38.67	-29.91	-0.57	1.30

Abbreviations: β , coefficient; SE, standard error; β^* , standardised coefficient; VIF, variance inflation factor.

^aOnly 10 participants had a wound at the face or neck, recoded into missing.

^bParticipants stating no sleep interference in the past week were not asked to complete the sleep scale.

*p < 0.05.**p < 0.001.

et al., Zhu et al. provided more detailed categories (4–6 weeks, 6 weeks-3 months, 3 to <6 months, and ≥6 months), yet no consistent trend of decreasing EQ-VAS or other EQ domains was observed. We found no negative impact of increasing wound duration on participants life, psychological function, sleep, or social function, suggesting that participants may adapt over time, though recall bias of wound duration could affect classification. Negative impact on scale scores was observed when participants had four or more wounds. However, the 95% CI were very wide, which is possible due to few observations in these indicator variables.

The most important predictor for all four scales was increasing wound-related sleep interference with β^* ranging from -0.19 to -0.57 (Tables 4 and 5). Over half of the sample (57%) reported having sleep interference in the past week due to their wound, which is similar to that found among older patients with leg wounds.²⁶ Sleep disturbances could have a severe impact on patients' daily living and HRQL³⁸ and may delay wound healing.^{32,41,42} Even in healthy persons, it has been found that modest sleep disruption over 3 days, with 2 h of sleep per night, delays healing of wounds.⁴¹ Of the four scales, the mean score was lowest for the Sleep scale, with more than 10 points lower than the Life impact, Psychological, and Social scores (Table 3). Relatively to participants having no sleeping interference, scale scores dropped with up to 30 points in participants stating sleep interference as 'very often (5 to 7 nights a week)'.

For all categorical predictors, statistically significant associated with the scale scores, the coefficients were above the smallest detectable change (SDC) at a group level reported in a further psychometric study that reported test-retest results,¹⁸ meaning that the difference between indicator variables is real and not due to the scale's measurement error. However, this was not the case when looking at the 95% CI for significant predictors, indicating some degree of remaining uncertainty. The 95% CI for all indicator variables about sleep interference was kept above the SDC, as seen in Tables 4 and 5.

This study has some methodological considerations. By combining the original field test and further validation samples, we were able

to have a large sample and, thereby, statistical power to include multiple variables in our regression. However, differences in data collection and data availability led to some restrictions. We would have wished to include data about pain, financial situation, marital status, and education as these variables have been found associated with HRQL in chronic wound patients.^{21,22,25} but these were either not collected or only collected for some of the participants in one of the two surveys. Data were collected differently, with clinician and patient-reported data potentially introducing bias about wound characteristics. Recall bias about wound duration and comorbidities is possible. This was handled using categories for wound duration and coding comorbidities to a binary variable. For a more direct association between NPWT and the scale scores, it would have been preferable if participants were asked if they were treated with NPWT in the past week instead of 3-6 months, as the recall period for each of the four scales is the past week. Due to few observations of patients having wounds due to cancer (n = 7), infection (n = 10), and pyoderma gangrenosum (n = 8), these were excluded from the regression analysis. Limitations about the specific samples have previously been discussed.^{13,18} In the regression analysis, we found that wounds located on the leg, foot, and toe(s) had collinearity in the Life impact, Psychological, and Social scale. Location and wound aetiologies are related, and multicollinearity may exist due to this, as it is logical that patients with a diabetic foot ulcer would have a wound on the foot or toe(s). Collinearity may have introduced type II errors, and we could have missed a significant predictor. Even though multiple variables were significantly associated with the scale scores, the 95% CI for the β was below the SDC established in the previous study by Simonsen et al., indicating some remaining uncertainty on the clinical relevance of the effect. The interpretation of the effect on scales scores of significant associated variables should be done cautiously as the precision, i.e. 95% CI of the β was wide for an extensive amount of the variables. Further studies are needed to verify our findings. Lastly, the results of our research can only imply associations.

6 | CONCLUSION

Considerable heterogeneity exists in wound studies regarding recruitment sites, wound aetiologies represented, the definition of a chronic wound, and the use of generic or condition-specific PROMs, making it hard to compare results. This study is the first and largest study examining predictive factors for HRQL measured by the four WOUND-Q scales: Life impact, Psychological, Sleep, and Social. Wound-related sleep disturbances had the greatest impact on quality of life, psychological well-being, sleep, and social function when adjusting for other clinically relevant variables in our multivariable regression model. To provide better care to people with chronic wounds, we need to address predictors impacting outcomes important to patients. Based on our study, more attention should be given to wound-related sleep disturbances in the daily treatment given their significant association with HRQL.

ACKNOWLEDGEMENTS

We would like to recognise the tremendous effort involved in collecting the WOUND-Q data and express our gratitude to the patients for their willingness to participate in this study. A.F.K. received funds from the Department of Pediatrics, McMaster University, for data collection. Grants were given from Odense University Hospital (grant number A4774) and the Region of Southern Denmark (grant number 21/58368) to N.V.S.

CONFLICT OF INTEREST STATEMENT

Anne Klassen and Andrea Pusic are developers of the WOUND-Q and may receive a share of any licence revenue on the inventor sharing policies from the institutions that own the WOUND-Q. Anne Klassen is the owner of EVENTUM Research, which provides consulting services to the pharmaceutical industry. The rest of the authors have nothing to disclose.

DATA AVAILABILITY STATEMENT

The corresponding author can provide the supporting data for this study upon request. However, please note that the data cannot be made publicly available due to privacy or ethical restrictions.

ORCID

Nina Vestergaard Simonsen b https://orcid.org/0000-0001-6006-9753

Charlene Rae D https://orcid.org/0000-0003-4309-4636

REFERENCES

- Martinengo L, Olsson M, Bajpai R, et al. Prevalence of chronic wounds in the general population: systematic review and meta-analysis of observational studies. Ann Epidemiol. 2019;29:8-15. doi:10.1016/j. annepidem.2018.10.005
- Kyaw BM, Järbrink K, Martinengo L, Car J, Harding K, Schmidtchen A. Need for improved definition of "Chronic wounds" in clinical studies. *Acta Derm Venereol.* 2018;98(1):157-158. doi:10.2340/00015555-2786
- Frykberg RG, Banks J. Challenges in the treatment of chronic wounds. Adv Wound Care (New Rochelle). 2015;4(9):560-582. doi:10.1089/ wound.2015.0635

- Lim CS, Baruah M, Bahia SS. Diagnosis and management of venous leg ulcers. BMJ. 2018;362:k3115. doi:10.1136/bmj.k3115
- Armstrong DG, Tan TW, Boulton AJM, Bus SA. Diabetic foot ulcers: a review. JAMA. 2023;330(1):62-75. doi:10.1001/jama.2023.10578
- Finlayson KJ, Parker CN, Miller C, et al. Predicting the likelihood of venous leg ulcer recurrence: the diagnostic accuracy of a newly developed risk assessment tool. *Int Wound J.* 2018;15(5):686-694. doi:10. 1111/iwj.12911
- Renner R, Erfurt-Berge C. Depression and quality of life in patients with chronic wounds: ways to measure their influence and their effect on daily life. *Chronic Wound Care Manage Res.* 2017;4:143-151. doi: 10.2147/CWCMR.S124917
- Falanga V, Isseroff RR, Soulika AM, et al. Chronic wounds. Nat Rev Dis Primers. 2022;8(1):50. doi:10.1038/s41572-022-00377-3
- Eckert KA, Fife CE, Carter MJ. The impact of underlying conditions on quality-of-life measurement among patients with chronic wounds, as measured by utility values: a review with an additional study. Adv Wound Care (New Rochelle). 2023;12(12):680-695. doi:10.1089/wound.2023.0098
- Olsson M, Järbrink K, Divakar U, et al. The humanistic and economic burden of chronic wounds: a systematic review. *Wound Repair Regen*. 2019;27(1):114-125. doi:10.1111/wrr.12683
- 11. Wukich DK, Raspovic KM. Assessing health-related quality of life in patients with diabetic foot disease: why is it important and how can we improve? The 2017 Roger E. Pecoraro award lecture. *Diabetes Care*. 2018;41(3):391-397. doi:10.2337/dci17-0029
- Tsangaris E, van Haren EL, Poulsen L, et al. Identifying health-related quality of life concepts to inform the development of the WOUND-Q. *J Wound Care*. 2024;33(1):28-38. doi:10.12968/jowc.2024.33.1.28
- Klassen AF, van Haren E, van Alphen TC, et al. International study to develop the WOUND-Q patient-reported outcome measure for all types of chronic wounds. *Int Wound J.* 2021;18(4):487-509. doi:10. 1111/iwj.13549
- Klassen A, van Haren EL, Cross K, et al. International mixed methods study protocol to develop a patient-reported outcome measure for all types of chronic wounds (the WOUND-Q). *BMJ Open.* 2020;10(3): e032332. doi:10.1136/bmjopen-2019-032332
- van Alphen TC, Poulsen L, van Haren ELWG, et al. Danish and Dutch linguistic validation and cultural adaptation of the WOUND-Q, a PROM for chronic wounds. *Eur J Plast Surg.* 2019;42:495-504. doi:10. 1007/s00238-019-01529-7
- Kisala PA, Tulsky DS, Choi SW, Kirshblum SC. Development and psychometric characteristics of the SCI-QOL pressure ulcers scale and short form. J Spinal Cord Med. 2015;38(3):303-314. doi:10.1179/ 2045772315Y.0000000017
- 17. van Alphen TC, Ter Brugge F, van Haren E, Hoogbergen MM, Rakhorst H. SCI-QOL and WOUND-Q have the best patient-reported outcome measure design: a systematic literature review of PROMs used in chronic wounds. *Plast Reconstr Surg Glob Open*. 2023;11(1): e4723. doi:10.1097/GOX.00000000004723
- Simonsen NV, Klassen AF, Rae C, et al. Further psychometric validation and test-retest reproducibility of the WOUND-Q. Int Wound J. 2023;21:e14354. doi:10.1111/iwj.14354
- 19. Rae C. Further psychometric evaluation of the wound-q: a responsiveness study. *Wound Repair Regen*. 2024;32:451-463.
- Kirkwood BR, Sterne JAC. Essential Medical Statistics. Wiley; 2010. https://books.google.dk/books?id=8GemDQAAQBAJ
- Kapp S, Santamaria N. The financial and quality-of-life cost to patients living with a chronic wound in the community. *Int Wound J.* 2017;14(6):1108-1119. doi:10.1111/iwj.12767
- Hopman WM, VanDenKerkhof EG, Carley ME, Kuhnke JL, Harrison MB. Factors associated with health-related quality of life in chronic leg ulceration. *Qual Life Res.* 2014;23(6):1833-1840. doi:10. 1007/s11136-014-0626-7
- 23. Zhu X, Olsson MM, Bajpai R, Järbrink K, Tang WE, Car J. Healthrelated quality of life and chronic wound characteristics among

patients with chronic wounds treated in primary care: a crosssectional study in Singapore. *Int Wound J.* 2022;19(5):1121-1132. doi:10.1111/iwj.13708

- Reinboldt-Jockenhöfer F, Babadagi Z, Hoppe HD, et al. Association of wound genesis on varying aspects of health-related quality of life in patients with different types of chronic wounds: results of a cross-sectional multicentre study. *Int Wound J.* 2021;18(4):432-439. doi:10.1111/iwj.13543
- Soares Dantas J, Silva CCM, Nogueira WP, et al. Health-related quality of life predictors in people with chronic wounds. *J Tissue Viability*. 2022;31(4):741-745. doi:10.1016/j.jtv.2022.07.017
- Hellström A, Nilsson C, Nilsson A, Fagerström C. Leg ulcers in older people: a national study addressing variation in diagnosis, pain and sleep disturbance. BMC Geriatr. 2016;16:25. doi:10.1186/s12877-016-0198-1
- Vogt TN, Koller FJ, Santos PND, Lenhani BE, Guimarães PRB, Kalinke LP. Quality of life assessment in chronic wound patients using the Wound-QoL and FLQA-Wk instruments. *Invest Educ Enferm*. 2020;38(3):e11. doi:10.17533/udea.iee.v38n3e11
- Sommer R, von Stülpnagel CC, Fife CE, et al. Development and psychometric evaluation of the U.S. English Wound-QoL questionnaire to assess health-related quality of life in people with chronic wounds. Wound Repair Regen. 2020;28(5):609-616. doi:10.1111/ wrr.12837
- Terwee CB, Roorda LD, Knol DL, De Boer MR, De Vet HC. Linking measurement error to minimal important change of patient-reported outcomes. J Clin Epidemiol. 2009;62(10):1062-1067. doi:10.1016/j. jclinepi.2008.10.011
- Bartley EJ, Fillingim RB. Sex differences in pain: a brief review of clinical and experimental findings. Br J Anaesth. 2013;111(1):52-58. doi: 10.1093/bja/aet127
- Keogh E. Sex and gender differences in pain: past, present, and future. Pain. 2022;163(Suppl 1):S108-S116. doi:10.1097/j.pain. 00000000002738
- 32. Guo S, Dipietro LA. Factors affecting wound healing. J Dent Res. 2010;89(3):219-229. doi:10.1177/0022034509359125
- Goldney RD, Phillips PJ, Fisher LJ, Wilson DH. Diabetes, depression, and quality of life: a population study. *Diabetes Care*. 2004;27(5): 1066-1070. doi:10.2337/diacare.27.5.1066
- Redekop WK, Koopmanschap MA, Stolk RP, Rutten GE, Wolffenbuttel BH, Niessen LW. Health-related quality of life and

treatment satisfaction in Dutch patients with type 2 diabetes. *Diabetes Care*. 2002;25(3):458-463. doi:10.2337/diacare.25.3.458

 Guest JF, Fuller GW, Vowden P. Cohort study evaluating the burden of wounds to the UK's National Health Service in 2017/2018: update from 2012/2013. BMJ Open. 2020;10(12):e045253. doi:10.1136/ bmjopen-2020-045253

Wound Repair and Reg

- McCaughan D, Sheard L, Cullum N, Dumville J, Chetter I. Patients' perceptions and experiences of living with a surgical wound healing by secondary intention: a qualitative study. *Int J Nurs Stud.* 2018;77: 29-38. doi:10.1016/j.ijnurstu.2017.09.015
- Phillips P, Lumley E, Duncan R, et al. A systematic review of qualitative research into people's experiences of living with venous leg ulcers. J Adv Nurs. 2018;74(3):550-563. doi:10.1111/jan.13465
- Fearns N, Heller-Murphy S, Kelly J, Harbour J. Placing the patient at the centre of chronic wound care: a qualitative evidence synthesis. *J Tissue Viability*. 2017;26(4):254-259. doi:10.1016/j.jtv.2017.09.002
- Burhan A, Khusein NBA, Sebayang SM. Effectiveness of negative pressure wound therapy on chronic wound healing: a systematic review and meta-analysis. *Belitung Nurs J.* 2022;8(6):470-480. doi:10. 33546/bnj.2220
- Apelqvist J, Willy C, Fagerdahl AM, et al. EWMA document: negative pressure wound therapy. J Wound Care. 2017;26(Sup3):S1-S154. doi: 10.12968/jowc.2017.26.Sup3.S1
- Smith TJ, Wilson MA, Karl JP, et al. Impact of sleep restriction on local immune response and skin barrier restoration with and without "multinutrient" nutrition intervention. J Appl Physiol. 2018;124(1):190-200. doi:10.1152/japplphysiol.00547.2017
- 42. House SL. Psychological distress and its impact on wound healing: an integrative review. J Wound Ostomy Continence Nurs. 2015;42(1):38-41. doi:10.1097/WON.0000000000000080

How to cite this article: Simonsen NV, Möller S, Rae C, et al. Patient and wound factors associated with WOUND-Q scales measuring health-related quality of life: An international cross-sectional study. *Wound Rep Reg.* 2025;33(1):e13245. doi:10.1111/wrr.13245

~
2
S
ŝ
2
5
ш
2
ш
ŋ
≤
2
<
>
₹
5
_
Ä
×.
5
≒
<u>~</u>
<u> </u>
5
5
4

	Scales															
	Life impae	t			Psycholo	gical			Sleep				Social			
			95% CI				95% CI				95% CI				95% CI	
Variahle		p enlex	OWer	Inner		p aulex	Ower	llnner		enlev a	ower	Inner		p Anliev	ower	Inner
	~ ~ ~ ~	040		010	7 0 7 4			0.24	۳ 200	0 00	11		000	011		017
Age, years	0.03	0.4 z	-0.04	OT.O	0.20	0.00	0.20	0.31	T0.0-	0.03	TT'0-	60.0	0.00	11.0	-0.UZ	/T'0
BMI	0.04	0.65	-0.13	0.21	0.04	0.65	-0.13	0.21	0.00	0.98	-0.22	0.22	0.00	0.98	-0.22	0.22
Wound size (width $ imes$ length, cm 2)	-0.02	0.16	-0.05	0.01	-0.03	0.012*	-0.05	-0.01	-0.03	0.02*	-0.06	-0.01	-0.04	0.03*	-0.08	0.00
Gender (Reference = female)	4.18	0.002*	1.58	6.78	8.23	0.00	6.02	10.44	7.21	0.00	3.66	10.75	5.13	0.00*	1.64	8.62
Smoking (Reference = no)	-2.34	0.16	-5.62	0.93	-5.01	0.00	-7.83	-2.19	-2.18	0.30	-6.35	1.99	-3.89	0.08	-8.25	0.47
Drainage (Reference = no drainage in the past week)	-11.63	0.00	-14.34	-8.92	-7.55	0.00	-9.92	-5.19	-6.88	0.00*	-10.87	-2.90	-13.59	0.00	-17.24	-9.94
Vacuum (use of suction device within the past 3-6 months) (Reference = no)	-8.16	0.00**	-11.73	-4.59	0.17	0.92	-2.92	3.25	-4.10	0.10	-8.91	0.71	-12.19	0.00**	-16.92	-7.46
Diabetes (Reference = no)	-4.16	0.003*	-6.89	-1.44	2.29	0.06	-0.06	4.64	-1.36	0.50	-5.28	2.55	-3.35	0.07	-7.01	0.31
Peripheral vascular disease (Reference = no)	-5.85	0.00**	-9.12	-2.58	0.75	0.61	-2.09	3.58	-5.29	0.02*	-9.62	-0.96	-5.79	0.01*	-10.18	-1.39
Comorbidities (Reference = none)	-7.28	0.00	-10.34	-4.22	-1.98	0.14	-4.63	0.67	-8.01	0.001*	-12.19	-3.83	-7.52	0.00	-11.63	-3.42
Marital status ^a (Reference = single/ never married)		0.9				0.05*				0.25				0.31		
Married/living common law	1.40		-2.31	5.10	4.39		1.24	7.54	-1.65		-6.42	3.11	3.82		-1.21	8.85
Separated/divorced	1.12		-5.07	7.32	3.70		-1.52	8.92	-3.62		-11.95	4.70	6.29		-2.06	14.64
Widowed	0.12		-8.52	8.76	4.36		-2.97	11.69	-11.91		-24.09	0.26	6.15		-6.07	18.37
Education ^b (Reference = completed high school or less)		0.51				0.226				0.77				0.44		
Completed college, trade school or university	-1.31		-5.86	3.25	0.88		-3.17	4.92	-0.87		-6.35	4.62	-2.94		-9.12	3.24
Completed master or doctoral degree	2.11		-4.18	8.40	4.80		-0.78	10.38	1.75		-5.85	9.36	1.62		-6.93	10.18
Wound location ^c (Reference = face or neck)		0.00				0.00								0.00**		
Upper extremity (hand, arm, shoulder) dummy variable	-0.32		-12.04	11.41	4.73		-5.50	14.96	REF ^c	0.39			4.70		-10.96	20.35

	Scales															
	Life impa	ct			Psycholog	gical			Sleep			S	ocial			
			95% CI				95% CI			959	° CI			95%	0	
Variable	ø	p value	Lower	Upper	β	p value	Lower	Upper	d	value Lov	ver U	bper p	p val	ne Fowe	- L	ber
Truncus (chest, abdomen, back) dummy variable	0.49		-10.60	11.58	7.08		-2.59	16.76	-4.18	-	2.97 4	60 4	.52	-10.	29 19.	33
Genitials, buttocks	-14.36		-25.74	-2.98	4.20		-5.72	14.12	-2.44	$^{-1}$	2.06 7	17 -	-7.60	-22.	79 7.5	6
Leg	-2.45		-13.05	8.15	9.38		0.13	18.62	-4.77	-12	2.50 2	95 4	.94	-9.2	2 19.	10
Foot, toes	-5.49		-16.07	5.08	9.56		0.33	18.79	-3.14	-10	0.86 4	58 2	.75	-11.	38 16.	88
Multiple wound locations	-16.44		-27.44	-5.45	1.51		-8.08	11.11	-8.55	-1	7.05 –	0.06	-13.60	-28.	29 1.0	ø
Wound aetiology (Reference = arterial)		0.00**				0.00			Ö	01*			0.0	**0		
Venous	7.64		-0.87	16.15	0.18		-7.15	7.52	-4.05	-1^{4}	1.88 6	79 3	.36	-7.9	7 14.	69
Diabetic foot ulcer	2.09		-6.02	10.21	-0.90		-7.91	6.11	1.36	-9.	28 1	2.01	-1.48	-12.	29 9.3	5
Hidradenitis	1.12		-8.97	11.22	-13.86		-22.55	-5.18	0.72	$^{-11}$	1.72 1	3.16 -	-5.13	-18.	54 8.2	8
Pilonidal cyst/disease	3.31		-9.73	16.35	-5.55		-16.74	5.63	0.62	-1^{4}	1.93 1	5.18 7	.07	-10.	26 24.	40
Pressure ulcer	1.22		-7.10	9.54	-0.92		-8.09	6.26	10.10	.0_	94 2	l.14 –	-1.38	-12.	47 9.7	0
Surgery	5.87		-2.18	13.91	0.41		-6.54	7.35	Not included	as only 10	observati	ons 1	.07	-9.6	2 11.	11
Radiation	4.78		-9.11	18.68	-3.65		-15.29	8.00	4.95	-5.	21 1	5.10 3	.43	-14.	51 21.	48
Trauma/injury	9.68		1.68	17.68	-1.12		-8.03	5.79	1.83	-9.	41 1	3.07 7	.06	-3.5	3 17.	71
Don't know	9.68		1.11	18.24	1.09		-6.30	8.49	-0.58	-1.	1.99 1	0.84 1	3.15	1.71	24.	59
Other type	8.30		-0.62	17.23	-4.02		-11.73	3.69	-7.06	-16	3.68 4	56 4	.57	-7.2	9 16.	43
Multiple types	-1.92		-11.28	7.44	-15.40		-23.47	-7.34	4.95	-5.	21 1	5.10	-7.61	-20.	9 4.8	2
Wound duration (Reference = 3- 6 months)		0.24				0.22			Ö	26			0.0	12*		
7-9 months	-4.94		-9.48	-0.41	-3.84		-7.74	0.06	-4.21	-10	0.23 1	81 -	-10.44	-16.	50 -4	.38
10-11 months	-1.74		-7.20	3.72	-0.11		-4.76	4.54	-9.40	-1	7.35 –	1.44 -	-5.37	-12.	74 2.0	0
1-2 years	-3.14		-6.70	0.43	-3.24		-6.30	-0.18	-3.98	-08	85 0	- 89	-4.26	-9.0	2 0.4	6
3-4 years	-3.58		-8.13	0.97	-0.46		-4.38	3.45	-4.16	-10	0.45 2	- 12	-4.48	-10.	56 1.6	Q
5-10 years	-4.40		-9.67	0.87	-3.97		-8.50	0.57	-1.75	- - -	48 4	- 66	-3.87	-10.	37 3.1	e
More than 10 years	-2.92		-9.85	4.02	-2.12		-8.08	3.85	-2.06	-1:	1.54 7	43	-9.20	-18.	40 0.0	Ţ
															(Cont	tinues)

	Scales															
	Life impac				Psycholog	gical			Sleep				Social			
			95% CI				95% CI				95% CI				95% CI	
Variable	ø	<i>p</i> value	Lower	Upper	ø	p value	Lower	Upper	Ø	<i>p</i> value	Lower	Upper	Ø	p value	Lower	Upper
Wound numbers (Reference = one wound)		0.00				0.00				0.00				0.00		
Two wounds	-8.976		-12.27	-5.68	-7.59		-10.45	-4.74	-3.86		-8.33	0.61	-11.21		-15.60	-6.82
Three wounds	-9.697		-14.74	-4.66	-6.78		-11.12	-2.45	-11.74		-18.09	-5.38	-10.83		-17.53	-4.14
Four wounds	-13.488		-20.85	-6.12	-7.83		-14.20	-1.46	-16.84		-25.98	-7.69	-17.07		-27.09	-7.04
5 or more wounds	-16.390		-21.98	-10.80	-14.12		-18.96	-9.28	-15.78		-22.44	-9.12	-24.90		-32.37	-17.42
Smell within the past week (Reference = no smell)		0.00**				0.00				0.01*				0.00		
Faint smell	-10.76		-13.71	-7.81	-12.52		-15.03	-10.00	-3.48		-7.42	0.45	-15.64		-19.61	-11.68
Moderately strong	-17.26		-22.50	-12.01	-14.20		-18.65	-9.75	-7.50		-14.14	-0.86	-19.41		-26.37	-12.45
Very strong	-22.53		-30.08	-14.98	-17.49		-23.84	-11.14	-13.22		-22.39	-4.05	-24.37		-34.44	-14.31
Sleep Interference from wound in the past week (Reference = never) ^d		0.00				0.00								0.00		
Sometimes (1–2 nights a week)	-12.82		-15.47	-10.16	-13.58		-15.88	-11.28	REF ^d	0.00			-16.38		-19.95	-12.81
Often (3-4 nights a week)	-26.04		-29.64	-22.45	-22.32		-25.44	-19.20	-21.52		-24.99	-18.04	-33.93		-38.78	-29.07
Very often (5–7 nights a week)	-30.10		-33.83	-26.36	-23.97		-27.21	-20.73	-35.89		-39.49	-32.29	-38.73		-43.78	-33.68
^a Marital status was only available from	Danish parti	cipants in	the original	field-test	ind the fur	ther valida	tion sample	نە								

^b Data was only available from the further validation participants (n = 420) of these 141 had completed high school or less, 214 had finished college, trade school, or university, and 65 had completed a master's or doctoral degree.

 $^{\rm c}$ Only 10 participants had a wound at the face or neck, recoded into missing.

 $^{\mathrm{d}}$ Participants stating no sleep interference in the past week were not asked to complete the sleep scale.

* *p* < 0.05.** *p* < 0.001.

	Main and	lysis (n	= 990)				Sensitivi	ty analys	is (n = 93	34)			
	p < 0.00	l, R ² = C	34, *R ² =	0.31			p < 0.00	1, R ² = C	.41, *R ² =	= 0.39			Coherence of significant predictors: main vs. sensitivity analysis
					95% CI						95% CI		$\mathbf{Green}=\mathbf{consistent}$
	β	SE	t	p > t	Lower	Upper	β	SE	t	p > t	Lower	Upper	Red = inconsistent
Age, years	0.04	0.04	0.95	0.34	-0.04	0.12	0.02	0.04	0.59	0.56	-0.05	0.09	
BMI	0.11	0.08	1.30	0.19	-0.06	0.27	0.07	0.07	0.90	0.37	-0.08	0.21	
Wound size (width $ imes$ length, cm 2)	-0.06	0.04	-1.66	0.10	-0.13	0.01	0.01	0.05	0.11	0.92	-0.09	0.11	
Gender (Reference $=$ female)	2.31	1.31	1.77	0.08	-0.25	4.87	2.11	1.17	1.80	0.07	-0.19	4.41	
Smoking (Reference $=$ no)	-0.52	1.64	-0.32	0.75	-3.74	2.70	-1.18	1.49	-0.79	0.43	-4.10	1.74	
Drainage (Reference = no drainage in the past week)	-5.65	1.47	-3.84	0.00**	8.53	-2.76	-5.81	1.30	-4.46	0.00**	-8.37	-3.25	
Vacuum (use of suction device within the past $3-6$ months) (Reference = no)	-3.79	1.81	-2.10	0.04*	-7.33	-0.24	-3.62	1.61	-2.25	0.03*	-6.79	-0.46	
Diabetes (Reference = no)	-3.90	1.62	-2.40	0.02*	-7.09	-0.72	-3.84	1.47	-2.61	0.01*	-6.72	-0.96	
Peripheral vascular disease (Reference $=$ no)	-2.19	1.74	-1.26	0.21	-5.60	1.22	-3.28	1.56	-2.10	0.04*	-6.35	-0.21	
Comorbidities (Reference = none)	-3.61	1.28	-2.82	0.01*	-6.12	-1.09	-2.78	1.15	-2.42	0.02*	-5.03	-0.52	
Wound location (Reference = face or neck)													
Upper extremity (hand, arm, shoulder)	5.03	5.51	0.91	0.36	-5.77	15.84	5.73	5.11	1.12	0.26	-4.30	15.76	
Truncus (chest, abdomen, back)	9.03	5.28	1.71	0.09	-1.33	19.39	9.53	4.90	1.94	0.05	-0.09	19.15	
Genitials, buttocks	-7.04	5.60	-1.26	0.21	-18.02	3.95	-8.51	5.20	-1.64	0.10	-18.72	1.70	
Leg	3.38	5.13	0.66	0.51	-6.68	13.44	5.14	4.78	1.07	0.28	-4.25	14.52	
Foot, toes	0.05	5.13	0.01	0.99	-10.01	10.11	0.79	4.78	0.17	0.87	-8.59	10.17	
Multiple wound locations	-2.90	5.37	-0.54	0.59	-13.44	7.64	-1.58	5.00	-0.32	0.75	-11.40	8.23	
Wound aetiology (Reference $=$ arterial)													
Venous	0.95	4.37	0.22	0.83	-7.64	9.53	0.33	4.03	0.08	0.94	-7.58	8.23	
Diabetic foot ulcer	-5.20	4.43	-1.17	0.24	-13.89	3.50	-4.54	4.07	-1.12	0.27	-12.54	3.45	
Hidradenitis	0.74	5.46	0.14	0.89	-9.97	11.45	1.48	4.99	0.30	0.77	-8.32	11.27	
Pilonidal cyst/disease	8.40	7.05	1.19	0.23	-5.44	22.24	9.12	7.41	1.23	0.22	-5.43	23.66	

APPENDIX B: MULTIVARIABLE LINEAR REGRESSION. MAIN AND SENSITIVITY ANALYSIS

Main an p < 0.00 p < 0.00 Pressure ulcer −5.65 Surgery −6.43 Radiation −8.16 Trauma/initry −3.29	analysis (001, R ² = SE	(n = 990)				Sensitivit	y analysi	s (n = 934	(†			
p < 0.00 β Pressure ulcer –5.65 Surgery –6.43 Radiation –8.16 Trauma/iniury –3.29	001, R ² = SE											Cohomon of ciantificant needictore.
β Pressure ulcer –5.65 Surgery –6.43 Radiation –8.16 Trauma/iniury –3.29	SE	= 0.34, *R ² =	= 0.31			<i>p</i> < 0.001,	, R ² = 0.4	41, *R ² =	0.39			Conerence of significant predictors: main vs. sensitivity analysis
β Pressure ulcer –5.65 Surgery –6.43 Radiation –8.16 Trauma /iniury –3.29	SE			95% CI						95% CI		Green = consistent
Pressure ulcer –5.65 Surgery –6.43 Radiation –8.16 Trauma /iniury –3.29	1 1 1	t	p > t	Lower	Upper	β	SE	-	p > t	Lower	Upper	Red = inconsistent
Surgery –6.43 Radiation –8.16 Trauma/iniury –3.29	¹ C.4 CO	t –1.24	0.21	-14.56	3.27	-3.70	4.17	-0.89	0.38	-11.89	4.48	
Radiation –8.16 Trauma/iniury –3.29	13 4.33	3 -1.48	0.14	-14.92	2.07	-6.32	3.98	-1.59	0.11	-14.12	1.48	
Trauma/iniury -3.29	16 7.27	7 -1.12	0.26	-22.42	6.11	-8.60	6.86	-1.25	0.21	-22.07	4.87	
	29 4.3C) -0.77	0.44	-11.73	5.14	-3.88	3.95	-0.98	0.33	-11.63	3.87	
Don't know -3.31	31 4.57	7 -0.72	0.47	-12.27	5.66	-3.23	4.17	-0.77	0.44	-11.41	4.95	
Other type –2.19	19 4.73	3 -0.46	0.64	-11.48	7.10	-1.58	4.33	-0.36	0.72	-10.08	6.93	
Multiple types -5.53	33 4.86	5 -1.14	0.26	-15.07	4.00	-4.90	4.49	-1.09	0.28	-13.71	3.90	
Wound duration (Reference $= 3-6$ months)												
7-9 months -0.68	38 2.15	9 -0.31	0.76	-4.98	3.62	-0.70	1.98	-0.36	0.72	-4.59	3.19	
10-11 months -1.51	51 2.72	2 -0.55	0.58	-6.85	3.84	-0.21	2.44	-0.09	0.93	-4.99	4.57	
1-2 years -0.58	58 1.71	l –0.34	0.74	-3.93	2.78	-0.75	1.53	-0.49	0.63	-3.75	2.26	
3-4 years -4.01	11 2.21	l —1.81	0.07	-8.35	0.33	-2.10	1.96	-1.07	0.29	-5.95	1.76	
5-10 years -0.41	11 2.52	2 -0.16	0.87	-5.35	4.53	3.19	2.36	1.35	0.18	-1.44	7.81	
More than 10 years -1.14	14 3.47	7 –0.33	0.74	-7.95	5.68	-2.13	3.08	-0.69	0.49	-8.18	3.92	
Wound numbers (Reference = one wound)												
2 -2.47	1.74	t –1.42	0.16	-5.89	0.95	-3.84	1.55	-2.47	0.01*	-6.89	-0.79	
3 -2.41	11 2.73	3 -0.88	0.38	-7.77	2.96	-5.40	2.49	-2.17	0.03*	-10.29	-0.51	
-6.36	36 4.03	3 -1.58	0.12	-14.27	1.56	-8.79	3.58	-2.45	0.01*	-15.83	-1.76	
5 or more -6.78	78 3.14	t –2.16	0.03*	-12.93	-0.63	-5.90	3.04	-1.94	0.05	-11.86	0.07	
Smell within the past week (Reference = no smell)												
Faint smell -3.45	1.55	5 -2.22	0.03*	-6.50	-0.40	-2.81	1.39	-2.03	0.04*	-5.53	-0.09	
Moderately strong -7.71	71 2.64	t –2.91	*00.0	-12.90	-2.52	-7.11	2.38	-2.99	•00.00	-11.78	-2.45	
Very strong -11.32	32 3.76	3 –3.00	0.00*	-18.74	-3.91	-14.51	3.72	-3.90	0.00**	-21.81	-7.21	
Sleep Interference from wound in the past week (Refere	erence =	never)										
Sometimes (1–2 nights a week) –9.95	95 1.49	9-0.69	0.00**	-12.86	-7.03	-10.70	1.33	-8.05	0.00**	-13.31	-8.09	
Often (3-4 nights a week) -22.26	26 2.05	5 -10.86	0.00**	-26.28	-18.24	-22.64	1.84	-12.31	0.00**	-26.25	-19.03	
Very often (5–7 nights a week) -23.64	54 2.16	5 -10.93	0.00**	-27.88	-19.39	-23.42	1.96	-11.95	0.00**	-27.26	-19.57	

Psychological scale													
	Main ana	alysis (n	= 990)				Sensitivit	y analysi:	s (n = 938)				Coherence of significant
	p < 0.001	l, R ² = (0.36, *R ² =	0.33			p < 0.001	, R ² = 0.	43, *R ² = C	.40			predictors: main vs. sensitivity analysis
					95% CI						95% CI		$\mathbf{Green} = \mathbf{consistent}$
	β	SE	t	p > t	Lower	Upper	β	SE	t	p > t	Lower	Upper	Red = inconsistent
Age, years	0.18	0.04	5.22	0.00**	0.12	0.25	0.20	0.03	6.24	0.00**	0.14	0.26	
BMI	0.00	0.07	-0.02	0.99	-0.14	0.14	0.01	0.06	0.08	0.93	-0.12	0.13	
Wound size (width $ imes$ length, cm 2)	-0.05	0.03	-1.77	0.08	-0.11	0.01	-0.01	0.04	-0.25	0.80	-0.09	0.07	
Gender (Reference = female)	6.61	1.12	5.92	0.00**	4.42	8.80	6.48	1.00	6.45	0.00**	4.51	8.45	
Smoking (Reference $=$ no)	-0.45	1.41	-0.32	0.75	-3.22	2.32	-0.04	1.27	-0.03	0.98	-2.54	2.46	
Drainage (Reference = no drainage in the past week)	-3.43	1.26	-2.72	0.007*	-5.90	-0.96	-3.99	1.13	-3.53	0.00**	-6.21	-1.78	
Vacuum (use of suction device within the past $3-6$ months) (Reference = no)	1.96	1.55	1.27	0.21	-1.07	4.99	2.14	1.39	1.54	0.12	-0.59	4.86	
Diabetes (Reference = no)	0.19	1.39	0.14	0.89	-2.53	2.91	0.07	1.25	0.05	0.96	-2.39	2.52	
Peripheral vascular disease (Reference $=$ no)	0.41	1.49	0.28	0.78	-2.52	3.34	0.46	1.35	0.34	0.73	-2.19	3.11	
Comorbidities (Reference = none)	-3.82	1.10	-3.48	0.001*	-5.97	-1.67	-3.46	0.98	-3.52	0.00**	-5.39	-1.53	
Wound location (Reference = face or nec	ck)												
Upper extremity (hand, arm, shoulder)	11.95	4.71	2.53	0.011*	2.69	21.20	12.82	4.13	3.10	0.002*	4.70	20.93	
Truncus (chest, abdomen, back)	13.50	4.52	2.99	0.003*	4.63	22.37	14.32	3.97	3.61	0.00**	6.53	22.12	
Genitals, buttocks	9.59	4.79	2.00	0.046*	0.18	18.99	8.87	4.22	2.10	0.036*	0.59	17.15	
Leg	11.94	4.39	2.72	0.007*	3.34	20.55	12.46	3.84	3.24	0.001*	4.92	20.00	
Foot, toe(s)	10.16	4.39	2.31	0.021*	1.55	18.78	10.75	3.85	2.79	0.005*	3.19	18.30	
Multiple	10.15	4.60	2.21	0.028*	1.12	19.17	9.81	4.07	2.41	0.016*	1.81	17.80	
Wound aetiology (Reference = arterial)													
Venous ulcer	-3.63	3.79	-0.96	0.34	-11.07	3.81	-3.82	3.56	-1.07	0.28	-10.82	3.18	
Diabetic foot ulcer	-8.31	3.84	-2.16	0.031*	-15.85	-0.76	-7.21	3.62	-1.99	0.047*	-14.32	-0.09	
Hidradenitis	-6.98	4.71	-1.48	0.14	-16.23	2.26	-5.90	4.49	-1.32	0.19	-14.71	2.90	
Pilonidal cyst/disease	-2.39	6.07	-0.39	0.69	-14.30	9.52	-2.08	5.77	-0.36	0.72	-13.39	9.24	
Pressure ulcer	-7.63	3.93	-1.94	0.05	-15.34	0.09	-6.45	3.68	-1.75	0.08	-13.67	0.77	
Surgery	-5.01	3.75	-1.34	0.18	-12.38	2.36	-4.25	3.54	-1.20	0.23	-11.19	2.69	
Radiation	-8.58	6.06	-1.41	0.16	-20.48	3.32	-8.28	5.75	-1.44	0.15	-19.58	3.01	
Trauma/injury	-5.50	3.74	-1.47	0.14	-12.84	1.84	-5.04	3.51	-1.44	0.15	-11.93	1.85	
Don't know	-5.88	3.96	-1.48	0.14	-13.65	1.90	-5.89	3.69	-1.60	0.11	-13.13	1.35	

	Main ană	= u) sislı	= 990)				Sensitivi	y analysi	s (n = 938)				Coherence of significant
	p < 0.00	l, R ² = 0.	36, *R ² =	0.33			p < 0.00	, R ² = 0.	43, *R ² = (0.40			predictors: main vs. sensitivity analysis
					95% CI						95% CI		$\mathbf{Green}=\mathbf{consistent}$
	β	SE	t	p > t	Lower	Upper	ß	SE	t	p > t	Lower	Upper	Red = inconsistent
Other type	-8.56	4.11	-2.08	0.038*	-16.63	-0.49	-6.96	3.87	-1.80	0.07	-14.55	0.63	
Multiple types	-12.82	4.21	-3.04	0.002*	-21.08	-4.55	-10.96	3.94	-2.78	•900.0	-18.69	-3.23	
Wound duration (Reference $= 3-6$ month	(sh												
7-9 months	-2.35	1.88	-1.25	0.21	-6.03	1.33	-2.66	1.68	-1.58	0.11	-5.97	0.64	
10-11 months	-0.36	2.31	-0.16	0.88	-4.90	4.18	0.74	2.10	0.36	0.72	-3.37	4.86	
1-2 years	-2.07	1.47	-1.41	0.16	-4.95	0.80	-2.88	1.31	-2.20	0.028*	-5.45	-0.31	
3-4 years	-0.63	1.90	-0.33	0.74	-4.35	3.09	-2.08	1.72	-1.21	0.23	-5.45	1.29	
5-10 years	-0.57	2.15	-0.26	0.79	-4.80	3.66	-0.25	1.95	-0.13	0.90	-4.09	3.58	
More than 10 years	0.27	2.97	0.09	0.93	-5.57	6.10	-0.82	2.65	-0.31	0.76	-6.02	4.38	
Wound numbers (Reference = one woun	(þí												
2	-2.81	1.49	-1.88	0.06	-5.74	0.12	-3.47	1.33	-2.60	0.009*	-6.09	-0.85	
б	0.48	2.32	0.21	0.84	-4.08	5.04	0.36	2.17	0.16	0.87	-3.90	4.62	
4	-4.77	3.45	-1.38	0.17	-11.55	2.00	-3.96	3.30	-1.20	0.23	-10.43	2.52	
5 or more	-4.57	2.68	-1.70	0.09	-9.84	0.69	-1.25	2.53	-0.49	0.62	-6.22	3.72	
Smell within the past week (Reference $=$	no smell)												
Faint smell	-5.40	1.33	-4.06	0.00**	-8.00	-2.79	-4.35	1.20	-3.63	0.00**	-6.70	-2.00	
Moderately strong	-7.20	2.25	-3.20	0.001*	-11.60	-2.79	-6.58	2.02	-3.26	0.001*	-10.54	-2.62	
Very strong	-11.50	3.24	-3.55	0.00**	-17.85	-5.15	-9.23	3.21	-2.88	0.004*	-15.53	-2.94	
Sleep Interference from wound in the pas	st week (Rei	ference =	= never)										
Sometimes (1–2 nights a week)	-9.43	1.27	-7.42	0.00**	-11.93	-6.94	-10.96	1.14	-9.62	0.00**	-13.20	-8.73	
Often (3–4 nights a week)	-16.98	1.75	-9.68	0.00**	-20.43	-13.54	-18.36	1.58	-11.60	0.00**	-21.47	-15.25	
Very often (5–7 nights a week)	-18.76	1.86	-10.11	°**	-22.41	-15.12	-20.39	1.70	-12.03	**.0	-23.72	-17.06	

Sleep scale														
	Main ana	lysis, n	= 544				Sensitivi	ty analysi	s, n = 517				Coherence of significant	-
	p < 0.001	, R ² = C	.46, *R ² = (0.42			p < 0.00	1, R ² = 0.	56, *R ² = ().52			predictors: main vs. sensitivity analysis	
					95% CI						95% CI		$\mathbf{Green} = \mathbf{consistent}$	
	β	SE	t	p > t	Lower	Upper	β	SE	t	p > t	Lower	Upper	Red = inconsistent	
Age, years	0.09	0.05	1.69	0.09	-0.01	0.20	0.09	0.05	1.93	0.05	0.00	0.19		
BMI	0.08	0.10	0.76	0.45	-0.12	0.27	0.17	0.09	1.86	0.06	-0.01	0.34		
Wound size (width $ imes$ length, cm 2)	-0.03	0.04	-0.89	0.37	-0.10	0.04	-0.02	0.04	-0.58	0.56	-0.10	0.05		
Gender (Reference $=$ female)	5.91	1.67	3.54	0.00**	2.63	9.19	5.03	1.49	3.37	0.00*	2.10	7.95		
Smoking (Reference $=$ no)	-2.62	1.94	-1.35	0.18	-6.43	1.19	-0.90	1.73	-0.52	0.60	-4.30	2.50		
Drainage (Reference = no drainage in the past week)	-3.72	2.08	-1.79	0.08	-7.81	0.37	-3.06	1.84	-1.66	0.10	-6.67	0.55		
Vacuum (use of suction device within the past 3-6 months) (Reference = no)	-2.70	2.37	-1.14	0.26	-7.36	1.96	-2.35	2.10	-1.12	0.26	-6.47	1.77		
Diabetes (Reference = no)	-3.46	2.18	-1.59	0.11	-7.74	0.82	-3.97	1.93	-2.05	0.04*	-7.76	-0.17		
Peripheral vascular disease (Reference = no)	-1.64	2.20	-0.74	0.46	-5.97	2.69	-0.39	1.97	-0.20	0.84	-4.27	3.48		
Comorbidities (Reference = none)	-3.98	1.67	-2.39	0.02*	-7.25	-0.70	-3.34	1.48	-2.27	0.02*	-6.24	-0.44		
Wound location (Reference = upper extre	emity, face c	or neck e	excluded du	e to only :	l0 observati	(suc								
Truncus (chest, abdomen, back)	-7.89	4.02	-1.97	0.05	-15.78	0.00	-5.48	3.56	-1.54	0.12	-12.47	1.51		
Genitals, buttock	-1.44	4.62	-0.31	0.76	-10.52	7.65	-3.69	4.22	-0.87	0.38	-11.97	4.60		
Leg	-0.75	3.47	-0.22	0.83	-7.56	6.06	-0.24	3.08	-0.08	0.94	-6.29	5.82		`
Foot, toe(s)	-3.62	3.55	-1.02	0.31	-10.60	3.35	-3.69	3.14	-1.18	0.24	-9.85	2.47		wound
Multiple	1.46	3.90	0.37	0.71	-6.20	9.12	2.77	3.50	0.79	0.43	-4.11	9.66		і нераі
Wound aetiology (Reference = arterial)														r and H
Venous ulcer	-9.47	5.15	-1.84	0.07	-19.59	0.65	-10.33	4.47	-2.31	0.02*	-19.12	-1.54		egene
Diabetic foot ulcer	-7.82	5.36	-1.46	0.15	-18.35	2.72	-9.39	4.66	-2.02	0.04*	-18.55	-0.24		ration
Hidradenitis suppurativa	-4.37	6.37	-0.69	0.49	-16.89	8.15	-4.78	5.62	-0.85	0.40	-15.82	6.26		
Pilonidal cyst/disease	-13.21	8.32	-1.59	0.11	-29.56	3.14	-7.25	7.57	-0.96	0.34	-22.13	7.63		_
Pressure ulcer	-4.98	5.67	-0.88	0.38	-16.12	6.16	-7.20	4.98	-1.45	0.15	-16.99	2.58		VV
Surgery	-4.67	5.22	-0.89	0.37	-14.92	5.58	-7.31	4.55	-1.61	0.11	-16.26	1.63		
Radiation	Not inclu	ded					Not inclu	Ided						_E
Trauma/injury	-11.03	5.13	-2.15	0.03*	-21.12	-0.95	-11.98	4.45	-2.69	0.01*	-20.72	-3.24		. Y -
Don't know	-9.40	5.53	-1.70	0.09	-20.26	1.46	-8.17	4.83	-1.69	0.09	-17.66	1.33		
Other	-11.88	5.64	-2.10	0.04*	-22.97	-0.79	-11.71	4.91	-2.39	0.02*	-21.35	-2.06		
													(Continues)	

Sleep scale														
	Main ana	alysis, n	= 544				Sensitivit	y analysis	, n = 517				Coherence of significant	
	p < 0.002	1 , R ² = 1	0.46, *R ² =	0.42			p < 0.001	, R ² = 0.5	i6, *R ² = 0	.52			predictors: main vs. sensitivity analysis	
					95% CI						95% CI		$\mathbf{Green} = \mathbf{consistent}$	
	β	SE	t	p > t	Lower	Upper	β	SE	t	p > t	Lower	Upper	Red = inconsistent	
Multiple	-14.10	5.74	-2.46	0.01*	-25.38	-2.83	-18.88	5.11	-3.69	0.00**	-28.93	-8.83		-
Wound duration (Reference = 3-6 month	hs)													
7-9 months	-1.49	2.79	-0.53	0.59	-6.96	3.98	-1.74	2.46	-0.71	0.48	-6.57	3.10		
10-11 months	-7.82	3.79	-2.06	0.04*	-15.27	-0.38	-8.43	3.29	-2.56	0.01*	-14.88	-1.97		
1-2 years	0.02	2.25	0.01	1.00	-4.41	4.45	-0.75	2.02	-0.37	0.71	-4.71	3.21		
3-4 years	-3.60	2.99	-1.21	0.23	-9.47	2.26	-4.55	2.62	-1.73	0.08	-9.70	09.0		
5-10 years	1.54	3.13	0.49	0.62	-4.60	7.68	1.26	2.76	0.46	0.65	-4.16	6.67		V
More than 10 years	4.58	4.64	0.99	0.32	-4.53	13.69	2.78	4.08	0.68	0.50	-5.24	10.79		
Wound numbers (Reference = one wound	d)													
2	-1.95	2.30	-0.85	0.40	-6.47	2.56	-1.73	2.04	-0.85	0.40	-5.73	2.28		
З	-2.45	3.28	-0.75	0.46	-8.89	4.00	-1.08	3.02	-0.36	0.72	-7.02	4.86		
4	-15.29	4.55	-3.36	*00.0	-24.22	-6.36	-19.69	4.11	-4.79	0.00**	-27.77	-11.62		
5 or more	-2.55	3.63	-0.70	0.48	-9.68	4.58	-3.00	3.21	-0.94	0.35	-9.30	3.30		
Smell within the past week (Reference $= 1$	no smell)													
Faint smell	-0.41	1.91	-0.22	0.83	-4.16	3.33	-0.72	1.68	-0.43	0.67	-4.02	2.59		
Moderately strong	-2.92	3.20	-0.91	0.36	-9.21	3.37	-5.35	2.84	-1.88	0.06	-10.94	0.24		
Very strong	-7.39	4.26	-1.73	0.08	-15.75	0.98	-10.66	3.95	-2.70	0.01*	-18.41	-2.91		
Sleep Interference from wound in the pas	st week (Ref	erence	= Sometim	ies 1-2 nigł	its)									
Often (3-4 nights a week)	-19.15	2.05	-9.33	0.00**	-23.18	-15.11	-19.57	1.81	-10.79	0.00**	-23.14	-16.01		
Very often (5-7 nights a week)	-34.29	2.23	-15.39	0.00**	-38.67	-29.91	-36.98	2.00	-18.48	0.00**	-40.91	-33.04		
Social scale														
	Main ana	alysis, n	= 983				Sensitivity	analysis,	n = 934				Coherence of significant	
	p < 0.002	1 , R ² =	0.31, *R ² =	0.28			p < 0.001,	R ² = 0.35	$, *R^{2} = 0.3$	36			predictors: main vs. sensitivity analysis	
					95% CI						95% CI		$\mathbf{Green}=\mathbf{consistent}$	
	β	SE	t	p > t	Lower	Upper	β	SE	t	p > t	Lower	Upper	Red = inconsistent	
Age, years	0.10	0.06	1.71	0.09	-0.01	0.21	0.10	0.05	1.94	0.05	0.00	0.21		
BMI	0.13	0.11	1.12	0.26	-0.10	0.35	0.14	0.11	1.31	0.19	-0.07	0.36		
Wound size (width $ imes$ length, cm 2)	-0.09	0.05	-1.81	0.07	-0.18	0.01	-0.07	0.05	-1.45	0.15	-0.18	0.03		

24 of 26 WILEY-Wound Repair and Regeneration

SIMONSEN ET AL.

	Main ana	alysis, n	= 983				Sensitivi	y analysis	, n = 934				Coherence of significant
	p < 0.00	1, R ² =	0.31, *R ²	= 0.28			p < 0.00:	l, R ² = 0.3	9, *R ² = 0.	36			predictors: main vs. sensitivity analysis
					95% CI						95% CI		$\mathbf{Green}=\mathbf{consistent}$
	β	SE	t	p > t	Lower	Upper	β	SE	t	p > t	Lower	Upper	Red = inconsistent
Gender (Reference = female)	3.01	1.78	1.69	0.09	-0.49	6.50	2.73	1.68	1.63	0.10	-0.56	6.02	
Smoking (Reference $=$ no)	-0.55	2.24	-0.25	0.81	-4.94	3.83	-0.54	2.11	-0.26	0.80	-4.68	3.59	
Drainage (Reference = no drainage in the past week)	-5.50	2.01	-2.73	0.01*	-9.44	-1.55	-6.31	1.87	-3.37	0.00*	-9.99	-2.63	
Vacuum (use of suction device within the past $3-6$ months) (Reference = no)	-7.64	2.48	-3.08	0.00*	-12.51	-2.77	-9.77	2.31	-4.23	**0	-14.30	-5.24	
Diabetes (Reference = no)	-3.89	2.21	-1.76	0.08	-8.23	0.45	-4.70	2.11	-2.22	0.03*	-8.85	-0.55	
Peripheral vascular disease (Reference = no)	-2.74	2.39	-1.15	0.25	-7.43	1.94	-3.80	2.24	-1.70	0.09	-8.19	0.59	
Comorbidities (Reference $=$ none)	-5.66	1.75	-3.23	0.00*	-9.10	-2.22	-4.93	1.64	-3.00	0.00*	-8.16	-1.71	
Wound location (Reference = face or neck	ck)												
Upper extremity (hand, arm, shoulder)	10.78	7.50	1.44	0.15	-3.94	25.50	12.87	7.24	1.78	0.08	-1.34	27.08	
Truncus (chest, abdomen, back)	15.40	7.19	2.14	0.03*	1.29	29.51	16.41	6.92	2.37	0.02*	2.83	29.99	
Genitals, buttock	1.43	7.63	0.19	0.85	-13.54	16.40	-1.27	7.36	-0.17	0.86	-15.71	13.17	
Leg	11.95	6.98	1.71	0.09	-1.75	25.65	14.37	6.76	2.13	0.03*	1.11	27.63	
Foot, toe(s)	9.34	6.98	1.34	0.18	-4.37	23.04	12.48	6.78	1.84	0.07	-0.82	25.78	
Multiple	2.91	7.32	0.40	0.69	-11.46	17.28	8.09	7.14	1.13	0.26	-5.93	22.11	
Wound aetiology (Reference = arterial)													
Venous ulcer	-4.78	5.97	-0.80	0.42	-16.50	6.95	-7.47	5.66	-1.32	0.19	-18.57	3.63	
Diabetic foot ulcer	-11.08	6.05	-1.83	0.07	-22.95	0.80	-14.68	5.74	-2.56	0.01*	-25.94	-3.42	
Hidradenitis suppurativa	-1.86	7.44	-0.25	0.80	-16.46	12.74	-1.69	7.05	-0.24	0.81	-15.52	12.13	
Pilonidal cyst/disease	8.04	9.62	0.84	0.40	-10.83	26.91	10.56	10.41	1.01	0.31	-9.88	31.00	
Pressure ulcer	-10.57	6.21	-1.70	0.09	-22.75	1.61	-8.84	5.89	-1.50	0.13	-20.41	2.72	
Surgery	-11.47	5.90	-1.94	0.05	-23.05	0.11	-12.12	5.55	-2.18	0.03*	-23.02	-1.22	
Radiation	-3.86	9.61	-0.40	0.69	-22.72	14.99	-5.50	9.39	-0.59	0.56	-23.92	12.93	
Trauma/injury	-6.75	5.87	-1.15	0.25	-18.28	4.77	-9.01	5.52	-1.63	0.10	-19.85	1.84	
Don't know	-1.82	6.23	-0.29	0.77	-14.04	10.40	-2.77	5.85	-0.47	0.64	-14.25	8.72	
Other	-5.53	6.45	-0.86	0.39	-18.19	7.14	-4.33	6.11	-0.71	0.48	-16.33	7.66	
Multiple	-9.70	6.62	-1.46	0.14	-22.69	3.30	-10.69	6.27	-1.70	0.09	-23.00	1.62	
Wound duration (Reference = 3-6 month.	hs)												

SIMONSEN ET AL.

$\beta = -6.001, \beta = -5.45$ 7-9 months -5.45 10-11 months -5.45 10-2 years -3.98 1-2 years -0.73 3-4 years -0.73 5-10 years 2.68 Motor than 40 were -3.04	$R^2 = 0$					Sensitivity	/ analvsis	n = 934				Coherence of significant
$\beta < 0.001, \ \beta < 0.001, \ \beta < 7-9 \text{ months} \qquad \beta \\ 7-9 \text{ months} \qquad -5.45 \\ 10-11 \text{ months} \qquad -3.98 \\ 1-2 \text{ years} \qquad -0.73 \\ 3-4 \text{ years} \qquad -0.73 \\ 5-10 \text{ years} \qquad 2.68 \\ Monochard Octors \qquad 2.04 \\ Monochard Octors \ 2.04 \\ Monochard Octors \\ Mono$, R ² = 0.											predictors: main vs. sensitivity
β 7-9 months –5.45 10-11 months –3.98 1-2 years –0.73 3-4 years –4.15 5-10 years 2.68 Motor than 10 wears 2.68		.31, *R ² =	0.28			p < 0.001,	$R^{2} = 0.3$	9, *R ² = 0.	36			predictors. main vs. sensitivity analysis
β 7-9 months -5.45 10-11 months -3.98 1-2 years -0.73 3-4 years -4.15 5-10 years 2.68 Moor than 40 week				95% CI						95% CI		Green = consistent
7-9 months -5.45 10-11 months -3.98 1-2 years -0.73 3-4 years -4.15 5-10 years 2.68 Moor than 10 years 201	SE	t	p > t	Lower	Upper	β	SE	t	p > t	Lower	Upper	Red = inconsistent
10-11 months -3.98 1-2 years -0.73 3-4 years -4.15 5-10 years 2.68 Move than 10 years 2.01	3.00	-1.82	0.07	-11.33	0.44	-3.75	2.79	-1.34	0.18	-9.23	1.73	
1–2 years – 0.73 3–4 years –4.15 5–10 years 2.68 Moor thord 10 yours 2.64	3.73	-1.07	0.29	-11.30	3.35	-5.22	3.49	-1.50	0.14	-12.07	1.63	
3-4 years –4.15 5-10 years 2.68 Move than 10 years 201	2.34	-0.31	0.75	-5.32	3.85	-0.36	2.17	-0.17	0.87	-4.62	3.90	
5-10 years 2.68 More than 10 years 2.61	3.03	-1.37	0.17	-10.09	1.79	0.10	2.86	0.03	0.97	-5.52	5.72	
Moro than 10 years	3.43	0.78	0.44	-4.05	9.41	4.30	3.29	1.31	0.19	-2.16	10.76	
	4.74	-0.83	0.41	-13.21	5.38	-4.98	4.45	-1.12	0.26	-13.70	3.75	
Wound numbers (Reference = one wound)												
-1.28	2.38	-0.54	0.59	-5.95	3.40	-1.78	2.23	-0.80	0.42	-6.16	2.59	
3 0.26	3.73	0.07	0.94	-7.05	7.58	-1.30	3.55	-0.37	0.72	-8.27	5.68	
4 -7.28	5.60	-1.30	0.19	-18.28	3.71	-8.79	5.28	-1.66	0.10	-19.16	1.58	
5 or more –9.33	4.31	-2.17	0.03*	-17.78	-0.88	-10.92	4.20	-2.60	0.01*	-19.17	-2.67	
Smell from the wound in the past week (Reference $=$ r	no smell	()										
Faint smell –6.58	2.12	-3.10	0.00*	-10.75	-2.41	-6.87	1.97	-3.48	•00.00	-10.74	-2.99	
Moderately strong –9.36	3.58	-2.62	0.01*	-16.38	-2.34	-7.99	3.41	-2.35	0.02*	-14.68	-1.31	
Very strong -11.36	5.15	-2.21	0.03*	-21.47	-1.26	-13.14	5.20	-2.52	0.01*	-23.35	-2.92	
Sleep interference from the wound in the past week (R	Referenc	ce = never	-									
Sometimes (1–2 nights a week) –12.49	2.03	-6.15	0.00**	-16.48	-8.51	-13.94	1.90	-7.35	0.00**	-17.65	-10.22	
Often (3-4 nights a week) -26.82	2.81	-9.55	0.00**	-32.33	-21.31	-30.93	2.63	-11.77	0.00**	-36.08	-25.77	
Very often (5–7 nights a week) –29.55	2.96	-9.97	0.00**	-35.37	-23.74	-33.43	2.80	-11.95	0.00**	-38.92	-27.94	

26 of 26 WILEY-Wound Repair and Regeneration